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INTRODUCTION

Before you dive into this book, here are a few tips you may
find useful when keying in the programs.

You may miss out all the REM statements except the first two.
These statements are just to help you understand how the
program works.

You can also omit the spaces between the line number and
the start of the statement. However BASIC is rather pedantic
about spaces elsewhere, so | advise you to copy the rest of the
statement exactly. Also, to be safe, always put a space before
words OR and AND. Any spaces within quotation marks must
also be copied exactly.

Remember also to put in all punctuation exactly as it appears.
If you miss out a comma, the program may not work. If the
program still does not work after you have corrected the
errors reported by the computer, check the following. See
whether you have confused any zeros for the letter O, or
alternatively ones and the letter |. Check, also, that you have
not missed any program lines. This is easily done if program
lines look similar. Most program line numbers go up by ten at
a time, so read your line numbers to find this one.

You may find some of the procedures useful, and you are
welcome to put these in any programs you write for your own
use. You may not, of course, sell or give them away.

| hope you enjoy the book, and that your brain is not teased
too heavily.



HEXAGON PUZZLE

You are really up against the clock on this one as you must solve
as many puzzles as possible. A series of numbers, or letters, will
be positioned around five of the sides of a hexagon and you will be
asked to provide the missing letter or number. The relationship
between the numbers or letters may be with their corresponding
number or letter on the opposite side of the hexagon, or it may
follow in sequence from an adjacent number.

The decision is yours.

The program will give you eleven puzzles, so see how many you
can solve.

How to play

Key inthe number, or letter, of your choice and press ENTER key.



Programming hints

One change to make the puzzle easier, is to reduce the size of the
numbers used. S(2) on line 150 is the value of the first number in
the sequence if the pattern is a sequence of numbers going
around the hexagon. IC on line 160 is related to the interval
between the numbers going round the hexagon. So if the 9 in line
150 is changed to a smaller number and IC is always 1 this will
make the puzzle easier.

If you wish to make the puzzle more difficult (and you must be
brave or a genius to want to do so), then you could either increase
the possible values of S(2) or IC or increase the number of
different types of sequence. At present there are five different
types of sequences depending on whether W is 0 to 4. If you allow
W to become 5 orlargerinline 170, you could add a new sequence
type for W=5 after line 230.

The Program

12 REM

20 REM (C) 1984 6. LUDINSET
S0 DIM S(8)

a0 CLS

70 TE=0:CR=0

80 MODE 2

GO TE=TE+]

100 IF TE=I11 THEN GOTO &70

REM

REM WORE OUT SECUENCE
REHM

S (1) =0

150 S(2)=IMT(RND{1)*%9+1)

160 TO=INT{RND (1) %441

176 W=INT (RRMND (1) %5)

178 IF W=2 AND S(2) 2 THEN GOTO 170

180 FOR I=3 T0O 8

190 IF W=0 THEN S(I)=2#5{(I-1)-S{I~2)+I(2
M&="The interval increases by "+5TR$ (IC)
+" each time'
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200 IF W=1 THEN S(I)=8{(I-1)+S{I-2)+ICsM$
="Each number is the sum of the previous
two plus "+8TR$(IC)

210 IF W=2 THEN S(I)=52)"(I-1):ME="Each
number is "+STR$E(S{(2))+" to the power ©
f 2.3,4,5,6 and 7"

220 IF W=Z AND I>5 THEN S (3 =8{2):18{4)=]

CeBE)=INT((S () +IC) /72) s G =5 (2) ®#5(I-3)
s ME="Each number is "+S5TRS(S{(2))+" times
the number

opposite it."

20 IF W=4 AND I>5 THEM S{3)=8{2)15(4)=]
Co () =INTLS ) +IC) /2y s (I)=TCSLL~1) s
M&="The numbers on the left hand side of
the wheel a

re "+STRE(IC)+" times the numbers on bthe
right hand side"

240 NEXT I

2530 FOR I=1 TO 1Z:PRINT:NEXT I

2HO REM

70 REM DISFLAY NMUMBER WHEEL

) FEM

290 FLOT 200,200 DRAWR Q& , ~2&6: DRAWR O, -9
G DRAWR ~9¢&, 34t DRAWR 964, 36 DRAKR O, 9é:
DRAWR 96, 2H: DRAWR O, —16&8: DRAWRKR 94, 56
F00 DRAWR 192, 94: DRAWR O, -9&: DRAWR ~192,
G5

400 REM FPRINT MUMBERS OR LETTERS

410 IF S(8) =246 OR S(7) x26 OR L&) 2246 THE
MoOLE=0s LOCATE 29, 19:FRINT 803 L00ATE 33
LABrPRINT 804) t LOCATE 29, 210 FRINT S5 oL
DCATE 21,21«

FRINT S¢&6) e LOCATE 135, 18 FRINT S07)

420 IF S(8)<=26 THEN LE=1: 0CATE 29,135:F
FRINT CHR$ (&HA+TNT (S ) e LOCATE 2%, 18sFRI
MT CHR$ (S4+-TNT (S (40 ) 3 s LOCATE 29, 21 FRINT
CHRS (&4+TNT

(S5(E)  LOCATE 21,210 PRINT CHR$ (L4-TNT (5
(&H))) s LOCATE 15, 182 FRINT CHR$ (G4+INT (S5 (7
)

A0 REM

440 REM inpult answers

450 REM

4355 INFUT I$:G0TO 00

45% END

A& TX=1
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480 LOCATE 4, IX+120FRINT P& DX o ITX=TxX+1
4852 P& (IX) =INEEYS

4875 CECY D 0N OTHERN GOTO 4873
484 Y e THEN GOTO 484
485 INMFUT PF$(IX) s LOCATE 4, IX+1Z2sPRINT P&
(LX)
484 PEIX)=INMEEY$: IF FPS(IX)="" THEN GOTO
486
438 IF P& OIX0 0 FOHRS (L3 THEN GOTO 480
429 P& (X)) =IThEEY S
A0 TeE="0" e FOR IT=1 TO IX-~LlsI&=TErPs(0) M
EXT T
FEM
FREM CHECE ANSWER
v REM
D REM
) IF LE=1 THEN GOTO S350

IF LE=0 AND VAL (I4$)=5(8) THEN LOCATE
wd s FRINT"?" e CR=CR+1:GOTO &10

HEOOIF LE=1 AND (I$=CHR$ (64485 083)))  THEN
LOCATE 9, 19 FRINT"?" s CR=CR-1 GOTO &10
BOHO LOCATE 14, LaFRINTYNQ. The answer = "
a7 TR LE
SEOOTFLE
Hn o TFOLLE
vl ter by
oy, W fore B
GBOT FRINT M
HLO LOCATE 21, 10sPRINT"Fress CRETURN: to
continue"
G ITMFUT &

&HEQ GOTO 80

&40 FEM

HE0 REM SCORE SHEET

bHED REM
HT0O CLSFRINT
HBD FRINT"NMumber of puzzles completed "3
TE

HF0 FRINT: FRINT"Mumber coreect ="§0R

Lo TE=TNT (CR® 1005, )

RO OFRIMNT: FRIMT"Your I0 level (numeracy)

9 THEN FRINT 5 (8)
2 INT CHFE (64
FEINT: FRINT Fep |

sl tilon number @.g. LFf

o FRINT
IF CR

FRINT"This is
per L0V Ty GOTO
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750 IF CRr=é& THEN FRINT"This is classed
as G0O0D (upper 20%7)":GO0TO 770

760 IF CR=5 THEN FRINT"This is classed a
s FAIR {upper &O7) ¥ :HBOTO 770

770 END



ODD ONE OuUT

Nine pictures are displayed on the screen and you are given only
a few seconds to compare them and identify the odd one out.

A score sheet will be displayed, showing the number of puzzles
completed, number correct and the time and average time taken.

Howtoplay

Each of the pictures on the screen will be identified by a number,
and you must key in the appropriate number as your guess.

If you get the answer wrong, you will be told the correct answer, to
the accompaniment of a low pitched little tune. Get it right,
however, and you will hear a pleasant little tune.
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After each attempt you will be asked if you wish more (Y for Yes)
or wish to stop (N for No).

Remember to press ENTER.

Programming hints

If you decide to make the arcs of the rainbow thicker then increase
the 2 in line 720.

The Program

Feit O
Bz ()
BORDER 7
MORE 1
DIM SO, 805,205, D9
MU= CR=0

100 TL=TIME

[EM

CL.S

INTRESNIRE S

F T )

FLEZI

FEM DRAW WINDCOWS

FE

NE OUT
4 G, LUDINGE T

0y o DRGSR

C L0, 10 DRAWR W
10, 10 DRAWR G, H-
=10, 10 DRAWR —W+320,
5 DI 10, 1
Oz DRAWFR O, ~H+320
210 NEXT X

O NEXT Y
REM
REM GENERATE RAINBOWS
REM
WH=TNT (RND (1) #9+1)
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270 HI= H«lﬂ

u)):ﬁ(: «aIN(HI/(N 40))

290 FOR I=1 TO Z:85(0)=1-COS(ACIY s Z{I)=H
TaNEXT I

Z00 REM

F10 REM DRAW RAINEBOWS

F20 REM

FEQ X=300Y=290

40 FOR I=1 TO @

F50 DAI)=10

HHO O NEXT I

FT70 D CWH) =40

E80 GOSUR 640

IR0 REM

400 REM CQUESTION

410 REM

420 LOCATE 17, LeFRINT" Which window is
diftferent"”

4730 Ty L=

440 Te=INREEYS: IF Td="" OND I2400 THEN IT=
IT+1:GOTO 440

450 IF T$<x"" AND (Ig<"1" OR I$:"9") THE
N GOTO 440

4460 IF Id="" THEN GOTO 480

470 IF VAL (I$)=WH THEN LOCATE &5, 23:FRINT
"Yes, You are right":SOUND 1, 100 CR=CR+1
1 GOTO 490

480 LOCATE 5, 2Z:0FPRINT"NGO, "sWHi" is diff
@rent®rS80UND 1, 200

1”“ FRINT: FRINT"Do you want more (Y/N)"4

YOINFUT R

TF OR&>"m" AND RS =N THEN GOTO 120
REM

REM SCORE SHEET

S40 REM

550 CLS

SEH0 PRINTY oon ONE ouTn

G700 LOCATE 1, 10:PRINTY"TESTS COMFLETED ="
i ML

S0 THM=INMT ((TIME-TL1) /100)

GO0 PRIMTYTESTS CORRECT = "iCR

HGLIO FRINT™ TIME TAEEN m e TM

A0 TF CRE 0 THEN FPRINT:FRINT"Time per b
sl o= "5 INTOTH/CR)

&ED END

.
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6H40 REM RATNEBOW SUBROUT IME

GE0 W=l 10

b T [~ 1.

H70 FAPER 1:FEN Q:FOR E=9 TO 19 STEF

OR G=& TO 246 STEF 103LOCATE G, E:FRINT
s FT=RT41 s NEXT QaNEXT Ko FAFER 0:FEN 1

GHBO XX =X+

HFD CY=0

700 FOR G=XX+320 TO XX STEF ~15

710 CV=CVY+1

720 FOR J=0 TO 2

7E0 RA=WI+HX- (G+T)

740 FLOT G+J+D(1) . YiDRAWR RA®*S(CV) , Z (CV)
750 FLOT bﬂJP17U+D(2).Y.DEﬁWF RA¥S(CV) , Z
(CV)

760 FLOT G+J+3404D C2) , YiDRAWR RA¥SCV) 2
(C\W)

770 FLOT G+J+D{4), Y-84: DRAWR RA*S(CV) , Z <
(YD

780 FLOT G+J+17Q+D(5),Yw84:DRQNH Fegy&s (0
Y, Z(0W)

TR0 PLOT G+J-+2404D (&), Y841 DRAWR Rass (0
W 2 (WD

BOO FLOT GeJ+HD 7, Y- 188 DRAWR RS0V, 7
OV

B10 FLOT G+J+170+D(8) , ¥V-148: DRAWR RAaxh (0
My, ZICY)

820 FLOT G+HI+E2404+D (9 , ¥V 1&H8 DRAWR FAwS 0
VY, Z(CW)

GBI0 MEXT J

8B40 NEXT G

850 RETURN




SAFECRACKER

Are you a quick-thinker or a deep thinker? | hope you are one or
the other, or you will never be able to crack open someone else’s
safe!

This game can be played two different ways, depending on
whether you are a quick or deep thinker. If you are not sure which
you are, then | suggest you play it both ways, and find out which
way gives you the highest score.

In all cases, a closed safe is displayed and you are given two clues
about the secret code that opens it. If you work out the exact
answer before keying in the code, you are given 2 minutes to do it.
If you make guesses, then you are only allowed 16 seconds.
Wrong answers are ignored.
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If you take too long you are surprised by the caretaker who
switches on the light. He then presses the alarm button and you
hear the police sirens wailing and you know all is lost.

If you do manage to crack the code in time, the safe opens,
revealing gold bullion.

How to play

You are given two clues such as those shown above. The code is
always a two digit number. Key in the number (you need not press
ENTER).

To end the program, press BREAK.

Programming hints

To reduce the number of digits allowed, reduce the number inside
the RND brackets for XX and YY in line 340.

If you find the game too easy then do the opposite.

The Program

b LLTDTNEET

50 MODE 1

60 LOCATE 1, 2 FRINT"SCORE & "5 S0

70 REM

BO REM DRAW SAFE CLOSED

90 REM

100 FLOT 158, 318:DRAWR 218,01 DRAWR 0,
2rDRAWK ~218, 0: DRAWR 0, 192: FLOT 17¢
DRAWF 186, 08 DRAWK 0, ~ 160 DRAWK ~ 186, 05 DI
AWR 0, 160

110 BOSUE 330
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120 LOCATE 13, 2:FPRINT"If you multiply th
@ first digit by "$INTAL " and the sec
ond digit by "§ABS{INTRI) X" and "iSes"
the result

is "HSINTCLYs"."

120 LOCATE 2, 20:FRINT"The let digit "iVs
140 FPRINT"the 2nd digit ie "3 INTC2) 2 INF
UT"WHAT IS5 THE CODE ?"il$

150 FOR I=1 TO ZO0:NEXT I

160 IF LEFT$(I$, 1)=MID& (A%, 2, 1) AND I$- -
"E" THEN GQOTO 190

170 IF I$="E" THEN GOTQ S30

180 FRINT I$

190 IF MIDS(I4,2, 1)=MIDS (A%, 4) THEN GOTO
210

200 FOR I=1 TO ZOO0sNEXT 1:60T0 ZE00

210 FRINT LEFTS$(I$,2)

# (A%, 1)

2E0 IF Z#%=A% THEN SC=8C+1:0608URER 490:G0T0O
4.0

240 FPRINT " Mo the code is "iARS (VAL (A%)
y

290 FOR I=1 TO 200:NEXT I

260 GO0TO 40

270 REM

280 REM SWITCH ON LIGHT AND SOUND SIREN

290 REM

ZO0 PRINT"No, the code is "iAsiFOR I=1 T

(7 &:SOUND 1, 10O S0UND 1, 10 NEXT I

ZLOIF TREEYS="Y THERMN GOTO 210 ELSE GOT0
AL

1OREM

DOREM GUEST ION

EA40 Al=INT ORND LY *@) -2 BLl=INT (RND (L) #8) +

PaAA=INTORND CL) %10 e YY=IMNT (RND (1) % 10)

50 Wl=-—1oIF RND>O.ES THEN GOTO 270

EAH0 Wl=1

B70 W21 IF RND>0.S THEN GOTO Z90

EEO W=

Z90 Rl=R1lxWl

400 Cl=(AlxXX)+(RB1*YY)

410 CR=XX4+ (W2*YY)

420 S$="Add them then":IF Wl=-1 THEN S#%=
"Subtract them"
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I0 Vé="plus": IF W2=-1 THEN V$="minus"
440 AS=5TRS (ARS (XX ) +BTRS (ARS (YY)

450 RETURN

460 REM

470 REM DRAW SAFE OFEN

480 REM
490 FLOT 1588, 218 DRANR 218, O DRAWR O, 19
2eDRAWR -~ . 158, 21800
RAWR O, - H 186, O DRAW
ROy =160 DRA
WR =186, O DRAWR O, 160

500 LOCATE 9@, 21 FPRINT™ "o FLOT 176, 3020 DR
AWR ~160, 221 DRAWR O, -14602 DRAWR 160, 22
510 FOR I=1 TO SO0Ou:NEXT I

520 RETURN

530 END

WOT 176, B0 DRAWR



SAINTS TO SINNERS

Here is a musical test for the members of your family who have a
keen ear for a tune.

The object of the game is to guess the tune being played and to
make it easy, to begin with, we have allowed your computer to play
the entire tune. After the first ten ‘numbers’ you will only hear a
short snatch from the tune.

We have included a very large selection of tunes suitable for
‘saints and sinners’.

Howtoplay

When you think that you have guessed, correctly, the title of the
tune being played, type in the full title press ENTER and find out if
your ear is musical, or tin.
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Programming hints

Lines 210-300 contains the procedure that plays the tune. The
notes of the tune are held as data from line 310 onwards.

The obvious alteration that can be made, are that when you know
the names of the tunes you will want to change them. If you wish
to increase the number of tunes that can be played then you must
increase the maximum value of W held in line 90. You could then
include your tune after line 505 ensuring that the tune is skipped
over if the value of W is not the correct one. You could then work
out the tune your require on an instrument, or else you could copy
a musical score. If you are copying a musical score then you
should refer to the User Guide, but if you are doing it for fun then |
recommend a child’s musical instrument which usually just has the
octave that starts with middle C should be used.

The Program

10 REM SAINTS TO SINNERS

20 REM (C) 1984 6. LUDINSET
30 RESTORE 70
4.0
S0 FOR L
&HO BORDE
70 LOCHA WOBFRINT"SATNTS TO STRNNERS"
B0 GOSUE S10

QO W= TNT (RND (1) #5) 41

100 GOSUR 210

110 A%=""sFOR I=1 T0O LENM$) STEF 2uA%=4
H+OHRE (VAL (MIDS (M, T,2)) ) s NEXT I

120 REM INFUT AND CHECK ANSWER

1320 LOCATE S, LaPRINT"What is the tune ca
1led "

140 INFUT I$

150 IF I$<:M$ THEN GOTO 1463

160 LOCATE S, 1 FRINT"Yes, yvouw are right
"2GOTO 17O

16 FRINT:FRINT"Na, it is called "§iMb
170 INFUT"Do yvouw want more (Y/N) PUIES

s READ MNOTE O o MEXT L.
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180 IF E$<:"Y" AND E$<-"N" AND E$<:x"v" f
ND E4<>"n" THEN GOTO 170

190 IF E$="Y" 0OR E$="y" THEN GOTUO &

200 GOTO 560

210 RESTORE

220 IF W=1 THEN GOTQO 260

230 READ M%

240 READ DURLFIT: IF FITS»-1 THEN GOTO 24
Q0

250 W=W-1:60T0 220

260 READ M4

270 READ DUR,FIT

280 IF DUR=-1 THEN RETURM

290 SOUND L,NOTEA(FIT+10) %2, DUR*E0

J00 GOTO 270

210 DATA "FRERE GUSTAV"

S20 DATA 1,0,1,2,.5,3,.8,2,1.,0

S30 DATA 1,0,1,2,.59,3,.5,2,1,0

40 DATA 1,3, 1.5, 8,7, 1,3, 1,5, 2, 7,.758,7,.
2,8, 8,7,.59,5,.5,3,.5,2,1,0

EEBO ODATA W79,7,.25,8,.5,7,.9,5,.5,3,.5,2
w Ly

360 DATA 1,0,1,-5,2,0,1,0,1,-5,2,0,~1,~1
J70 DATA "THE FIRST NOEL™

F80 DATA 85, 4,.59,8,.7,0,.2,4,.59,9,.59,7,.
Ta@ya3,11,.58,12,.5,11,.5,9

Q0 DATA 8,7, 59,9, .5, 1L, 5, 12,.8,7,.5,5
we e, 2,4,.4,2,.5,0

400 DATA V5,2, 59,4, .9,5,.5,7,.59,9,
B A e T R v T R T R WA N AR T |

E I S T T P T N N B N I
410 DATA ~1,-1 ’

420 DATA "ONMCE IN ROYAL"

’.
&
&1
—
—

ST

470 DATA 5,5, 0.5, 9. 0.5, 10,0.2,10,0.5, 10
D05, 10,0.5,9,0,5,10,0.5,11,0.5,11,0.5, 1
0,0.5,10,0.7,14,0.7,16,0.35,14,0.35,12,0.5

L1, 0.5, 10,0

5.9, 0.5,7

440 DATA ~1,~1

450 DATA "GOOD KING WENCESLAS"

460 DATA w5 e S S e TaTa e G Tn e FaTgnTaTige
T T T T e DA TN DA NP A AN DA T TR DO SO
PRI T T T T N S N DD N TR SO s B -
Gally 70Dy,

4,.5,5,.5,5

470 DATA —~1,-1
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480 DATA "MORNING HAS BROEEN"

490 DATA .5,0,.5,4,.4,7,.5,12,.5,14,.5,1
T T B - A T S - T s U - D= A < S
75,9

E00 DATA o5, 70T dy e 5y a5y Pa e 5a 0y u Gy
T A T e SN SRR - A I RO TR A T AU T
A PR T TIPS T N - T N - B B - e DA
a5, 0

505 DATA ~1,~1

510 REM DRAW RADIO

520 FPLOT 127.,127:DRAWR 197, 0: DRAWK O, 11
2: DRAWR ~192, 0: DRAWR O, 112: DRAWR O, ~16:D
FAWR 197, 01 DRAWR O, ~1&: DRAWR 192, ¢
5E0 FLOT 206, 78: DRAWR 80, 0: DRAWR O, ~48: D
FAWR —80, 01 DRAWR O, 48

540 RETURN

550 REM

H60 END

570 DATA 149, 145,141, 137, 135, 129, 125, 121
L117,113,109, 105, 101

580 DATA 97,97,89, 85, 81,77, 75,69, 65, 61,5
7. 5

590 DATA 49,45,41, 27,35, 29,20




FRACTIONS AND
PERCENTAGES

26  Hjoheat score §  Score 4|
Quiz game 3 - Fraotions and percentages

Hello,what is your name 7EVE
Here are some problems EVE

3/7 expressed as a peroentage = 0.32

If you have trouble converting percentages to fractions and vice
versa then this is for you.

-  How to play ,

The playing instructions are the same as those in the Profit and
Loss program which is to be found elsewhere in this book.

The conversion from fraction to percentage routine expects the
percentage value to be entered to two places of decimals i.e. it
expects the player to key in 66.66 not 66.7. The trick to write a
number to a certain number of decimal places is to multiply it by 10
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to the power of the number of decimal places you require, then find
the integral part, then divide by the same number. In the program
the fraction F/G is multiplied by a further 100 before conversion as
the number is a percentage.

Even though the answer is given to a certain number of decimal
places any answer, provided it is within 1 of the correct answer is
accepted. This is so that the answer is marked correct however
inaccurate the method used to obtain it.

Different types of problems can be added as described in Profit
and Loss.

~The Program

10 KEM GUTZ

20 REM (C) 1984 6. LUDINSKI
IO DEF FNRS (LS, N) =LEFTS (L6, N
5 DEF FNT$ (L%, M) =MIDS (L$, M)
40 MODE 2

SNNCEER

&HO g Haglvest Soore kg N

frg

FOOFRINT H&o FRIMT FRINTCui s game 5 - [y

actions and Fercentages"

80 FRINT: FRINT

FOOTNFUT"Hel Lo, what is yvow nams "ings

FINT:FRINT"Here are some problems "i§:

nds =TNGO SOUNDY THERN FRINT n$

10OC Wel g GOy Ten g Deaa't ey MX =0

103 Pl

1Lod GOSUER 248

10é& CLEsLOCATE 1,6

SFRINT e FRINMT GEs =4 GOSUR S60FPRINT:

TF Wee 1 THERN TNFUT T$:FRIMT SO I

FUT Yer G070 ¥

1% IF ITRELT T4 GOTO 14

1E0 TF L GTRS (J2 A THEM Us=1 !
TF LENSTRS (J) ) =3 THERN L= :

POTF We—-1 AND VAL (IT9) =0 AND VAL (V&) =HU

THEMN GOTO 160
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140 IF W=1 AND VAL (I%)=VAL (A%) THEN GOTO
160

130 GOTO 180

1460 FPRINT:FRINT"Yes, congratulations ":0

=CHLa FRIMT: FPRINT: IF N$="NO SOUND" THEN G

oTn 210

170 SOUND 1,60:80UND 1,80:S80UND 1, 10050

UND 1, 30:850UND 1, 73: SOUND 1, 100

171 IF INEEY$="" THEN GOTO 171 ELSE GOTO
220

180 IF T=1 THENM FRINT"Mo, “iH$:" try aqg

ain"sT=2:60TO 110

190 FRINT"Sorry, the answer is
195 IF IMEEY$<:="" THEN GOTO 195
1946 IF INMEEY$="" THEN GOTO 196

200 FPRINT C$

220 IF P=10 THEN GOTO &10

221 PRINT:FRINT"Do yvouw want more 7 (Y/MN)

"a
"

222 Te=INKEY%$
250 IF I&="" THEN GOTO 222

23 TF IS F"N" AND I$<:"n" AND IsC:"Y" A
MDD Td ="y THEN GOTO 222

240 IF Td="V" OR T$="y" OR TH="" THEM T=
1:CLS:GOTO 102

244 END

248 REM QUESTION

DE0 Lt My Ot

260 We-Wa F=IMNT (RND (L) %) +1

270 G=INTRNDCL) ¥9) +1 s J1=INT (RND (1) #19) -+
1

280 IF F=0 O0RF/8=INT (F/G) OR G7F=INT(G/
Fr THEM GOTO 260

290 IF Fo6 THEN E=INT(F/G*100) 3 J=J1%3
Z00 IF GaF THEN E=INT(G/F%*100)1H=0G:G=FF
= Je=J 1 %2

10 Es=FNT$ (STRS (E) ,2) s Fe=FNT$ (8TR®% (F) , 2
YaGH=FNTS (STRS (G) , 2) s TE=FNTH (STRS (J) , 2)
F20 IF W=1 THEN GOTO 410

IR0 E%=J%+"% converted into a fraction”
T40 He="F7Z I8 F/100. If top and bottom o
f the fraction are exactly divisible by
the numbers, then divide by these nu
mbhers. "

I50 HU=100:FOR I=1 TO 8

"HLBi M




260
HEZINM
KYAY]
HEM

4Oy
410
420
tage
4750
440

450
40

60
-
&

)

k]

)
eted
&HAGD
&0
HEO
&GO
70

IF J/753=INT(I/5) AND HU/S=TNMT (HU/5)
J=d /75 HU=HU/ S

IF J/72=INT{J/2) AND HU/Z2=TNT (HU/ D
JeJ S8 HUs=HU SR

MEXT T:A$=5TRS (J)-+"/"+STHRS (HLD

L %=%

ME="ag "+jE+" 100 = TrAg

IF Wes-1 THEN GOTO 460
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QE=fd4" /"GS- enxpressed as & percen

H="F/0 is (F/0)%100L"

A=STRS (INT (F®LO000/E) /1000 o l.b=ad+" 7%

Mt ge (RS SR ) 5 100" A
RE TUFRN

REM

D= s VR M= 10
P (1)

T g M
e FOR K=1 T

CEY G TFOFE Dyt THERN LOCATE

FrRINMT s FRINT " Namber of problems ocompl

mm !t

FRINT: FRINT"Nanber correct ="§
IF CxMX THEN MX=(C

Foreme
GOTO 220
FREIM




DON’T PAINT THE CAT

I

Seems a strange title for a program. | mean, who would want to
emulsion paint the family mogg anyway?

Well you see, the family have decided that you have to paint the
garden fence. You lost the draw — it might have been your sister
instead who had to do it, but never mind there is always next time.
Across the fence from you and your fantastic paint brush, is your
neighbour’s transistor. As a mental challenge you have decided to
paint the fence according to the high/low pitch of your neighbour’s
music.

LLook out for your cat, it's parked at the end of the fence.



How to play

As the game begins you will hear just two notes to compare but,
everytime you get the answer correct the next tune will have an
extra note.

You will be told which two notes to compare, and you must key in

H or L for High or Low.

If you take too long to answer, the cat will wind up getting covered

Press the ENTER key when you want a new tune.

The Program

FRE

9 REM DONM"T FAINT THE CAT

REM

REM () 1984 G, LUDINSE]T

REM

REM DEFINE GRAFHIC
RESTORE :: GOSUR 800
FEM

SYMEOL, AFTER 240
GOSUR 790

REM CLEAR SCREEM
FREM

CLEAR:DIM N{11)

BORDER 1:MODE 2
REM
REM START GAME
REM
FOR J=2 TO 9
REM
REM DRAW FENCE
REM
GAOSUER HOO
FREM

REM CHOOSE WHICH NOTES
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F20 REM

F40 W=INTRND (L) *I) +1sA=TINTRND (1) %J)+ 14
IF W=A THEN GOTO 240

BE0 Fé="th"sIF W=1 THEN F$="st"

FHO BE="th":IF A=1 THEN G$%="st"

I70OIF W= THENM F$="nd"

80 IF A=2 THEMN G$="nd"

FQ0 IF W=3 THEN Fé="rd"

400 IF W=2Z THEN G$="rd"

410 LOCATE 1, 10PFRINT"Is the "iWiF$i" not
@ in the tune higher or lower than the "
FATESET " note. ":FRINT "Fress H or L":FOR
=1 TO 100

NMEXT L.

440 REM

450 REM FLAY THE TUNE

4é&H0 REM

46% FOR k=1 TO J

470 NOED =INT(RND (1) % 100) + 1008 TF k=1 THEN
GOTO 4%0

475 REM

476 REM ENSURE NO NOTE I8 REFEATED

477 RERM

480 FOR G=k-~1 TO 1 STEF -—1s IF NMORD =N{G)
THER GOTO 470

435 NEXT @

490 SOUND 1, M), 20

SO0 NEXT K

REM

2 REM CALCULATE CORRECT ANSWER

L FEM

IF MW SN A THEN As="H"

IF N =MOAY  THEN Ad="L"

7 REM

REM FAINT FENCE

S17 REM

S20 GOSUR 845

525 REM

5246 REM CHECE ANSWER

HE7 REM

HA0 OIF (Af="H" AND {(I$="H" 0OR IH="h")) 0O

Foo(AS="1" AND (I%="L" 0OFR I%="1")) THEN L
OCATE 1,Z21sFRINT"Yes, you are correct":F

OR W=1 TO 10

O:NEXT We LOCATE 35, 22:FRINT"<RETURN> to «
cntinue": INFUT t4:NEXT j:60TO 2000
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S40 LOCATE 1,21:FRINT"You are incorrect.
The answer was & """sasgrvovn
S50 INFUT A$:60TO 10
598 REM
S99 REM DRAW FENCE
HOO REM
601 CLS
HO2 FOR X=30 TO 238 STER 32
605 Y=318:12=16:0=208
6H10 FLOT X, Y:DRAWR Z,0:DRAWR O, -G DRAWR
=Z,0:DRAWKR 0,0
612 NEXT X
H20 FOR A=46 TO Z02 STEF Z2:E=2861C=270
D=158:E=142
J0 FLOT A,B:DRAWR 146,0:NEXT A
6H3G FOR A=46 T0O 302 STEF 32:RB=20861C=27002
D=188s E=142
HAO FLOT A, CrDRAWR 1é&, D
645 FOR A=4é4 TO Z0Z STER
D= ] S8y Elwe ] 402
HI0 FLOT &, De DRAWR 16, Ou MEX
HEE FOR A=446 TO 20Z GTEF B
De=1880n Bl 42
H&HO FLOT A E:DRAWK 16, 02 NEXT A
670 LOCATE S5, 15 PRINT CHRS (240)
704 REM
705 REM DRAW RORDER
706 REM
710 FLAOT 0,0
20 DRAWR 514, 03 DRAWR O, 23S0 DRAWR 514, 0
: DRAWR O, ~Z250
7IEI0 RETURN
720 REM
791 REM DEFINME GRAFHIC
72 REM
SO0 SYMBOL 240, 0, 56, 60,60, &0, 25, 6, 60
840 RETURN
844 REM
845 REM FATNT FENCE
846 REM
851 FOR X=30 TO 218 S8TERP 32
860 FOR Y=110 TO 218 STEF 4:R=16
8581 REM
862 REM CHECE FOR ANSWER
863 REM
865 Id=INEEYS: IF IT6C " THEN GOTO 900 F

e 288 G Oe=l27 O
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870 FLOT X,Y:DRAWR R, 0:NEXT YiNEXT X

880 LOCATE 35, 153:FAFER L1:FPEN O:FRINT CHR
$(240) :FPAFER O:FEN 1:60T0Q 1000

QOO IF I$H<H"L" AND I$<>"1" AND I#«:»"H" A
MD I$<="h" THEN. GOTO 870

10 RETURN

G0 REM

995 REM CAT FAINTED

996 REM

1000 LOCATE 1,21:PRINT"Too late! The cor
rect answer was @ "UMidAsyrorn

1010 FOR W=l TO Z00:hNEXT W INPUT "ageadr
(Y/NY  PUaRgs TF s ="M AND R = n THERN
FeU

LOZ20 ENMD

1990 REM

1995 REM ALL 8 CORRECT

1996 REM

2000 LOCATE 2, 12:PRINT"A MUSICIAN SHOULD
N*T BE PAINTING FENCES !'"2END




A-MAZE-ING

Steps

5
L

Score = 0@

ol

Ei! ps;
rJJ '1_
tir;.;ér_-,

You are at the bottom of a complicated maze, and your objective
is to reach the top in the quickest possible time, but also with the
fewest number of moves possible.

Don't rush headlong into this one, as a little forward planning can
save you time and points.

Every step counts as a point and every time you try to cross a
barrier counts as a point.

You must aim for the nearest exit at the top.
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How to play

You are represented by a dot in the lower left hand side of the
maze, and you move by using the ARROW cursor keys. Do not
press the shift key, just the keys with the arrows on.

Your score will be displayed at the top of the screen. The number
of steps taken has a greater effect on your final score than the time
factor.

We hope you make it, as there are plenty of other ‘Brainteasers’
waiting for you on the outside.

Programming hints -

The maze is created of cells, each of which have one side blocked
off. The cell shapes are drawn using user-defined graphics.

You could increase the size of the maze by changing 21 and 25 in
lines 160 and 190. The maze shown is 24 columns wide by 20
rows. The maze array m must be DIMensioned 2 columns and 2
rows larger than the actual array to allow for checking for the
(x+1)th and (x—1)th columns, and (y+1)th and (y—1) rows. If you
want the maze in the centre on the screen then change line 170.

The lines drawn down the side of the maze in lines 240 and 250
would have to be changed, so would the start position of the dot in
lines 260 and 270. In a 20 row maze the 21strow is the row the dot
starts on, so special conditions apply to this row in lines 310 to 340.
If a different number of rows is chosen this 21 and 22 must be
changed. The 21st row of the maze is represented by the 22nd row
of the array m. It was made this way to allow the top and bottom
row to be checked.
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The Program

10 REM A-maze—ing

20 REM (C) 1984 6. LUDINSEI

F0 DIM MI26, 33

40 RORDER 7:MODE 1

SO LL$=CHR$ (242) : R$=CHR$ (247) : D&=CHF$ (241
) 2 US=CHRS$ (240)

&HO DEF FNU=INTA(TIME/S00)

70 RESTORE

80 SYMRBOL 240,23,3,3,3,3,3,3,32

0 SYMEOL 241,0,0,0,0,0,0,255, 255

100 SYMBOL 242,192,192, 192,192,192,192,1
P2,192

110 SYMROL 247, 255, 255,0,0,0,0,0,0

120 SYMBOL 244,352,323, 3,27,27,3,3,32

130 8YMROL 245,0,0,0,24,24,0,285, 255

140 SYMRBOL 246,192,192, 192,216, 216,0, 2595
w2

150 SYMROL 247,2559,255,0,24,24,0,0,0

160 FOR I=2 TO 21

170 FRINT:FRINT" "y

180 M1, I)=0

190 FOR J=2 TO 25

200 MOJ, D)=IMNT(RND(1)*4)

210 PRINT CHR$ (240+M{J, 1))3

220 NEXT J

20 NEXT I

240 PLOT 62, 368: DRAWR O, 3320

250 FLLOT 448, 368 DRAWR O,
260 GT=0y X=2s ¥=22s X =2 Y 1=
270 LOCATE X+3, YrFRINT ", "iCHR$(8) 3

280 HC=8T+INT{{(FNU-T1) /53

290 I$=IMEEY$: IF Id="" OR I&#ICHRS (Z240) (0
FROI$:CHRS (2472 THEN LOCATE 1, 1:FRINT INT
(FNU-T1)3" secs SCORE = "3&8C:" steps
= Uity o BOT

0 290

TO0 IF (X=2 AND Is=L$) 0OR (X=23 ANMD I$=R
%) OR (V=2 AND I$=Us) 0OR (Y=22 AND I#$=D%
) THEN GOTO 280

I10 IF Is=L% AND ({M{X-1,Y)<x0 AND M{X,Y
Y4 E) OR Y=22) THEN X=X-1
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I20 IF Is=R$ AND ({MIX+1,¥V)<:2 AND MIX,Y
YL FQ) OR Y=22) THEN X=X+1
IT0OIF I$=D$ AND ({MLIX,Y+1)<I:E AND MIOX, Y
Y1) OR Y=E2) THEN Y=Y+1
S340 IF Is=Us aAND ((MIX, Y1051 AND MIX,Y
) EEY O OR Y=22) THEM YY1

IE0 GT=ET+1
Z6O IF Yi=22 THEN LOCATE X1+3,22: FRINT"

I70 IF Y=22 THEN LOCATE X+3,22:FRINT".":
80 IF Y1422 THEN LOCATE X1+3,Y1sPFRINT

CHR$ (2404+M X1, Y1) i CHR$ (8) 3

ZQ90 IF YOR22 THEN LOCATE X+3,Y:FRINT CHR
H(244+M X, V)i CHR$(8) 3

400 IF X=X1 AND Y=Y1 AND 8T >0 THEN S0UN
D 1,200,320

410 IF v=2 AND MX,Y)<»3 THEN FOR J=1 T0O
SaFOR I=100 TO 200 STEF 10:SOUND 1,1,7:
NEXT I:FOR I=200 TO 100 STEF ~10:S50UND 1
o Lo JaNEXT I

NEXT JaFUN

420 X1=X2¥Y1l=Y

4730 GOTO 280



SPOT THE DIFFERENCE

which are different?
| 1l 2l 31 q

| suppose that this could have been called Star and Stripe, the
difference as you will see when you run this colourful eye test.

Two pictures, composed of stars and stripes, in red, green and
blue appear on the screen, and you will be asked to identify which
of the items is different.

7 "How to play

Items are keyed as follows:

Blue stripe 1
Green stripe 2
Red stripe 3
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Blue star 4
Green star 5
Red star 6

Identify the differences and key in the number and press ENTER.
If you are correct you will hear a high pitched tune, but if you are
wrong your answer will be crossed.

To help you, numbers previously keyed in are displayed in
brackets. When all the numbers required have been keyed in a
further tune will be played. Just hope that it is high pitched for a
correct answer.

To continue, or stop, press Y or N and ENTER.

At conclusion you will see your score sheet showing tries, correct
answers, and time/average taken.

Programming hints

You might find the routine star useful in your non-commercial
programs as it draws a star. You just have to specify the bottom
left-hand corner of the star (x,y), the width of the bottom of the star
(w), the height of the star (h) and the colour that it is to be displayed
in (cl).

You could make the puzzle easier by increasing the range of
possible values for the shapes that are going to be different. The
function FNm (n,m) is used to define the minimum and maximum
value of any shape. Remember if you increase the maximum
value m you must reduce the minimum value n by the same value,
or the picture will extend beyond the allocated area.
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The Program

10 REM SFOT THE DIFFERENCE

20 REM {(c) 1984 G. LUDINSEI

40 BORDER 7:MODE 1

S0 DEF FNUs=INT(TIME/S00)

80 DIM W(6),BH(6)

G0 Tl=FNU:z CR=02 NO=0

100 REM

120 DEF FNMON, MY =INT { {(M-M) #RND (1) +N)

1320 RESTORE

190 CLS

200 ME=NE+1

210 PLOT 0,920:DRAWR 510,0

220 DRAWR O, 260: DRAWNK ~3510, 0 DRAWR O, -2
Q

230 FLOT 284, 90: DRAWR O, 260

240 MZ=0

250 FOR I=1 TO &

260 WD) =TNT (RMD (1) *2)

2F0 TIF WAiIy=1 THEN MI=PNI+1

280 NEXT I

ITF NZ=0 THERN GOTO 250

FOR J=1 TO =

Xe=dh)% (J-1) +7

W=FNM (S, 100

IJ==

340 Cl=J: IF J=2 THEN CL=4

F50 IF J=3% THEN CL=2

S60 GOSUR 780

I70 X=Xl 273 We=le (W DT #FNM IS, 10)) 1 GOSUR
780 '

280 X=40% {J~1)+27 s H=FNM{W, 2%W) s W=5a Y=FNM
(45, 175-H)

F90 IJ=J+3

400 Cl=J: IF J=2 THEN ClL=4

410 IF J=3 THEM Cl.=Z

420 GOSUR 840

40 X=FNMAOXHL27, 40% (J-1) + 1540 1 W=W+ W11
®FENM(E, 6 ) s He=H- (W 1T ) #FMMOH/ 4, 3xH/40 0 0 60
SUR 840

440 MEXT J
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450 LOCATE 1,21:FPRINT" Which shapes a
re different"
4460 PRINT"1 2 a0
470 FRINT" 4 5 L
480 GOSUR 00
420 REM
500 Ré=""
510 FOR I=1 TO (LEM{(A$)+1)/2
520 IS=INKEY$:IF I$="" THEN GOTO 320
530 LOCATE 1,24:FRINT" .
"y LOCATE 1,24:FRINT I
fﬁ;” (";F\'fS:':" )u!.l
540 EI=0
S50 FOR =1 TO MA
960 IF I$=R$ (E) THEN B$(E)="0"2kI=1150UN
D 1,120,30:Ré=RE+I1%
S70 NEXT E
380 IF EI=0 THEN FRINT " X":G60T0Q &00
SP0 FRINT
600 IF INEEYS: ="" THEN GOTQO &00
H10 MEXT I
HR20 FOR I=1 TO NA
GI0 TF BHECDC"0" THEN GOTO &60
HA0 NEXT I
A50 GOTO 670
GO0 LOCATE 1,21 sPRINT"
"y LOCATE 1,21 :sPRIN
T"No, answer ="§Ad: SOUNMD 1, 100, 302 SOUND
1,40, 20:60T0
&HB0
6H70 LOCATE 12, 28:FPRINT"Yes, vou are righ
" SOUND 175, T CR=CR+1
680 LOCATE 1,22:FRINT"Do vou want more
Y/h) "
HPD INFUT I$
700 IF I$C:"N" THEN GOTO 190
710 CLS:FRINT:FRINT" Spot the differ
ence"
FEOQ LOCATE 1,63 PRINT"Puszles attempled
"Eing
ZEOD LOCATE 1,80 FRINT"Fuzzles correct
i CR
F40 THM=FMu-
TS0 PRINT:FRINT? T me
7EO IR ( FOOTHEM FRINT: [MT" Time taken
per puzzle ="§i INT{TM=*100/CR) /100
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770 GOTO 1080

780 REM STRIFE SURROUTINE

790 FEN CL

800 FOR I=X TO X+W

810 FPLOT Ix2,920:DRAWR O, 260

820 NEXT I

BE0 RETURNMN

840 REM STAR SUBRROUTINE

830 FEN CL

BoHD X=X YVO=Yy X=X+ (W2 oY L=y (HA3) 0 XE=E
W2 s YE=YHHE GOSUR 98B0
870 X=Xk YO=Yo 5O5UER 980
BE0 S E Y LY (0 ¥H 3
b2 X=X (2 /20 s Y3
870 RETURN

QOO REM ANSWER SUEBROUTINE

PLO A%=""y IM=0

QR0 FOR L=1 TO &

QIO IF WLD)=1 THEN IM=IM+1sBR%s (IM)=CHR$ (L
+48) 1 A%=A%+RE (IM) -+, "

Q40 NEXT L

PE0 AS=LEFTS (A%, LEN(A%) ~1)

REQ NA=IM

Q@70 RETURM

80 REM TRIANG SUBRROUTINE

@O FOR F=Y1-YO TO YE-YO

1000 FPLOT 2%X0, 2%Y0u DRAWR 2% (X1-X0) , 2%
1010 NEXT

1020 RETURN

1030 REM HTRIAMG

1040 FOR F=X1-X0 TO XE2-X0

1050 FLOT 2%X0, 2eYOu DRAWR ZxF, 2w (Y 1Y)
1060 NEXT F

1070 RETURN

1080 REM EMD




PROFIT AND LOSS

If a shopkooffr ?gus hocgiates for 49
pence and sells ] pence,
p:ofxt as a percentage of his cost prxoe

?
76
Yes,congratulations

How much do you know about profit and loss?

Do you know how much you would make if you sold your car, or
even your bike?

How to play

You will be given five minutes to answer as many questions as
possible, and you may press P and ENTER for pass if you cannot
work out an answer.

You will not be penalised for ‘passes’.
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At the end of five minutes, or sooner if you enter N for NO in answer
to the question “do you want any more”, your score sheet showing
tries, correct answers and average time per answer will appear. If
you wish to proceed, then press Y and ENTER and the program
will continue to ask you questions.

You can have two tries at each question if you wish. After the first
attempt, you will be given a hint as to the correct answer. If your
second answer is wrong, you will be told the solution and how it
was obtained.

If you cannot work out an answer then press ? and ENTER and
your computer will turn into a calculator and you can then use the
normal mathematical symbols on the keyboard. To clear the
calculator from the screen press AC and ENTER. For the
calculators answer press = and ENTER. To return to the main
game press ? and ENTER. Always remember to press ENTER
after each required response.

Programming hints

This program includes a useful procedure that enables a
programmer to fit a sentence, or string, of any length onto a screen
of any size, without splitting a word between one screen line and
another, i.e. wraparound, and is found on line 530.

Assign the string, or sentence in quotes, to variable FL$. B holds
the number of characters on the screen in the case of Mode 2 it is
80. On exit the field FL$ contains the string, or sentence, re-
formatting so no words are split between one 80 column line and
another.

You may want to add some different types of problems on profit
and loss. To do this, instead of W alternating between -1 and +1,
it should be allowed to take a random value between 0 and one
more than the number of problem types you are going to add. The
details of the problem must be put in the QUESTION subroutine.
Q$ holds the question, H$ the hint, A and A$ the answer and L$,
M$ and N$ the answer and explanation.
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Programming hints

10 REM FROFIT AND L.0OSS

20 REM (C) 1984 6. LUDINSEI

30 DEF FNE$ (A%, M) =MID% (A%, N, 1)

32 DEF FNV$(A$,M)=MID$ (A%, M)

35 DEF FNZ$(A%,R)=LEFT% (A%,E)

40 BORDER &6:MODE 2

5(:) S$=II 1"

60 Cé="Highest score ":ks$=" Score "

70 LOCATE 1,S5:FRINT" QUIZ GAME 1 - FROFI
T AND LOSG"

80 LOCATE 1,7

QO OINFUT"Hello, what is your name RS
sFRINTEFRINT"Here are some problems"i: IF
Mé="NO SOUND" THEN FRINT N$

100 P=0sMX=0n C=0y W=

118 T=1s IH="n

120 FP=Fa+l

A0 G0SUR 220

140 REM

150 CLS:LOCATE 1, 8aFRINT G®%s" = "

160 GOSUR 740

180 IF ARS (VAL (I$)~-A) <X AND IT$>"" THERN

GOTO 200

190 GOTO 2E0

200 LOCATE 1,18:FRINT"Yes, congratulatio
na":C=0C+12IF N$="NO SOUND" THEN GOTO 250
210 SOUND 1, 20,40:80UND 1,50, 1002 80UND 1
W LOO, &Ow SOUND 1 L S0, E50 SOUND 1, 50, 20 60TO
'—'C')()

: IF T=1 THEM LOCATE 1, 18:FRINT"NO, "4
H& s s FOR F=1 TO S000sNEXT FaiFRINT"TRY AGH
TR FOR Fa=1 TO 783 NEXT FaT=20CLS8sPRINT: G
OT0 1350

20 LOCATE 1, 18 PRINT"SORRY, The answer
i o= Vil i M

240 PRINI J b

28680 INFUT"Do you want more (Y/NM) ?"ils:]
FoIg="Y" OR I$="y" THEN CLS:G0TO 110

270 IF I#="N" OR I$="n" THEN CLS:G0TO 80
0
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IT10 REM
I20 REM QUESTION
IFO LEe=""sME=""sJs=""1RB=401 X=1
J40 E=INT(RND(1)*8)+1:F=INT(RND (1) *%0)+1
OsE$=CHR$ (E+48) s FE=8TR$ (F) 1 F$=RIGHT% (F$,
LEN(F4$)~-1)
I50 W=-W
Z60 IF W=1 THEN GOTO 430
I70 R$="14 a shopkeeper buys choceolate f
or "+F$+" pence and sells it for"+5TR$ (E
+F)+" pence. His profit as a percentage
of his cost
price"
380 Q%=R%:GOSUR SI0
390 H$="Fercentage profit = ((sell - co
st) /cost) x 100%
where sell = selling price and
cost = cost
price"
400 A=INT (E/F*100) s As=8TR$ (A) : As=RTIGHT% (
A%, LEN(AS) 1)
410 Ld=A%H+" A"
420 ME="as (("+ETRS (EHF) 4" — " Fgan) /0
") 100% = "+8TR& (INT(E/F#100))
430 IF W=-1 THEN GOTO 520
440 V=INTA(E®LIO0) s VE=8TRS (V) s VE=RIGHTS (V$
W LENA(VE) ~1)
4350 R$="A dealer wishes to make a profit
of "+FE-"4 ITf a car costs him "+VER" Lh
en his selling price must be"
460 qb=r$:GO8UR 330
470 He="Find the profit in money terms,
then add it to the cost price"
480 A=INT (V-+F*E) ) s AS=8TRS$ (A) 1 Ab=RIGHT®H (
A%, LEN(A$) —1) s YE=8TRS (INT (F*E) ) s Ye=RIGHT
HAYE, LENIYS) ~1)
490 L$=0A%
SO0 Mb="as profit =("+FfE8+" 71000 EVER
+L%
510 Jé="s0 selling price ="+yvE4" by de e
"l %
G20 RETURN
HI0 OREM FITIN
S40 LF=LEMIRS$) » IF LFI=R THEMN GOTO &2Z0
HE0 FOR I=1 TO INT(LF/Z40)
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560 EL=R*I

S70 IF FNE$(R$,EL)="" THEN GOTD &10

80 IF FNE$(R$,EL+1)="" THEN R&=FNZ$ (R%,

EL) +FNVS (R$, LF~EL-1) s LF=LF-1:60T0 &10

590 =0

992 E=kE+1:IF K20 THEN GOTQO &10

595 IF FNE$ (R$,EL-E)=" " THEN R$=FNZ$ (R$
W EL-ED) +FNVS (8%, D) +FNVS (RS, LF-EL+E) : LF=LF

+E2 GOTA 610

HOO GOTO 392

G100 NEXT I

H20 RETURN

HE0 END

6H40 REM CALC

650 INFUT Z$: IF Z&="7" THEN LOCATE 1,1é&:

RETURN

6HED LOCATE 1,220 FPRINT" "
tLOCATE 1, 22:FRINT INT (VAL (Z$) % 100) /100
) rGOTO &S50

740 REM FEYIN

750 X=1

760 F$ X)) =INKEY$: IF F$(X)="" THEN GOTO 7

&0

761 IF FH(X)=" " THEN LOCATE 2,1:FRINT"
"ICHIMXIESICGOTO 760

76F 1LOCATE 1, 22:FRINT" "
fLOCATE 1,220 F0R I=1 TO XsFRINT F&(I)isN

EXT I

7864 IF ASCF$(X))=127 THEN Fg="

"rX=13LOCATE 1,22:FRINT F4$:G0TO 760

765 IF P& OX)="2" THEN F${(X)=" ":G608UR &4

0:60TO 760

770 IF ASCAIF$ (X)) =13 THEN F$(X)=" "uGOTO
780

772 IF F$X)<"0" OR P$SOO =2"9" THEN P& X0

=1 e EATO 760

775 X=X+1:B0T0 760

780 I$="":1FOR I=1 TO X-1:I$=I$+FE (1) NEX

T 1

790 RETURM

800 REM SCORE

810 LOCATE 1,8:FRINT"Number of problems
completed="§F:LOCATE 1,2:FRINT"Number <o
rrect="1C:sLOCATE 1, 1Z2:FPRINT N$3" s sucoe
ss rate="§ TN
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T(C/F*100) s "A" 2 IF CHxMX THEM MX=(C

B20 F=0:C=01IMFUT"Flay again (Y/M) "§ii#
830 IF LEFT®$(I$, 1)="Y" OR LEFT&(I&,1)="y
"OTHENM GOTO 110

840 END



STATS PAINTER

I

LR

bl e B b e o f

1,2,2

i e ghl

INHEE A EENY WAy

You are the director of Rockets Unlimited, and yesterday you were
very pleased in the way the company was going. Then these
officious accountants came, studied the figures and reckoned you
were making a loss.

All weekend the sales figures are preying on your mind. Even
while you are painting the fence you are trying to find out where the
accountants went wrong. Sometimes you get so lost in thought
that you end up painting the bird on the fence. If you can work
accurately and quickly, you will find out where the accountants
went wrong, and you will be able to prove to them that Rockets
Unlimited is the success you always knew it was.
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How to play

The questions are on the modes or medians of a given set of
numbers. The mode of a set of numbers is the number occurring
most frequently. The median of a set of numbers is the middle
number. The numbers are arranged in ascending order. Just key
in the answer without pressing ENTER.

If you are right you may move on to the next question by pressing
ENTER. If you are wrong, or take too long to answer, the bird ends
up by getting painted. After nine consecutive correct answers you
find out where the accountants went wrong.

Programming hints

If you wish to use the graphics but to set different types of
questions, replace routines at lines 400, 590 and 640. Assign the
question to Q$ and the answer to A$ and the hint to H$. Questions
in this program must have answers one digit or letter long.

The Program

10 REM STATS FAINTER

20 REM (C) 1984 G. LUDINGKI

30 REM

40 DIM DO1S) , 0

50 MODE 2

90 DEF FNX$ (D%, N)=LEFTS (D%, N)
95 DIM G(10)

100 DEF FNES$ (NS, N)=MIDS (N&, N, 1)
160 REM

170 REM BIRD SHAPE

REM

SYMEOL 240,48, 748, 60,30, 14, 11,9, 8
REM DRAW FENCE
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245 FOR X=14 TO 446 STEF 48

250 FLOT X, Y:DRAWFR R, O DRAWR O, Z: DRAWKR -~
Fo Qo DRAWR O, ~ZsNEXT X

260 IF X< x494 THEN GOTO 270

265 FOR P=0 TO 446 STEF 48:0=138:U=174:T
266 IF P 494 THEN FLOT F,O:DRAWR 14,0:F
LOT F,UsDRAWR 14,0:FLOT P, T:DRAWR 14,0:F
LOT FL,E:DRAWR 14,0

267 IF P<x480 THEN NEXT F:GOTO 266

270 1.O0CATE 38, 9:FRINT CHR$(240)

280 GOSUR 400

285 REM FRINT QUESTION AND CHECE ANSWER

290 LOCATE 1, 19:FPRINT O

ZO0 T=05 TH=""y D=0

IO GOTO 710

I10 REM

IR0 IF I#=0% AND ID<2 THEN FRINT"Yes, vyo
woare right":60TAO =60

IZ0 ID=ID+1:IF ID=1 THEN GOTO 3350 ELSE G
oTo 725

3240 FOR J=1 TO Z:S0UND 1,100,10:80UND 1,
230, 20 80UND 1,130, 200 NEXT J

280 LOCATE 1, 200 FPRINT"No, "ih$:GOTO 725

255 LOCATE 1,20:FPRINT"Too late, "iH®

360 LOCATE 1,22:FRINT"Press enter for mo
re Ui INFUT R$:CLS

I70 IF I$<xA% THEN GOTO 230

JGHO MEXT M

IQ0 LOCATE 1, 1&4&:PRINT"Ewreka! you found

it. Get on the phone quick":GOTO 810

400 REM STAT

410 MC=QuDN=13MO=08 W=TNT (RND (1) *2) +1

420 FOR I=1 TO &

470 CLI)=INT(RND (L) %*4) s IF C(1)=MC THEN G
QTO 470

440 IF CA(I)=MC THEN MC=C(I):MQO=1

450 IF C(ID)=0 THEN GOTO S00

4460 FOR L=DN TO DN+C{I)~1

470 DL =1

480 NEXT I

490 DMN=DN-+C (1)

SO0 NEXT I

S0 LF DN/Z2=TINT(DN/2) THEN DN=DN-+1 2D (D)
)
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S20 DE="":FOR I=1 TO DMN:D$=D$+STR&E(D{I))
A1, " NEXT I:D$=FNX$ (D%, (DN#3Z)—-1)
S0 THE="th" s M=INT(DN/2)+12TF M=1 THEN T%
="‘.5t"
540 IF M=Z THERN TéH="nd"
SE0 IF M=3 THEN TH="pd"
960 IF W=1 THEN GOSUE S90
G970 IF W=2 THEN GOSUR &40
S80 RETURM
520 REM CALCULATE MODE
HOO Q%="What is the mode of "+rodb
GLO FOR F=1 TO 10:G((F)=0sNEXT FuiR=0yE=0
Hll FOR F=1 TO DMaGDF))=GDF))+LaMNEXT
F‘
H12 E=1:FOR F=1 TO 10:IF G{F) *E THEN E=fF
HLE NEXT F
Ol AH=STRS (E) s As=FRIGHTS (&%, LEM(A$) ~1)
G20 HE$="{there are more "-+A%+"g"
&HED RETURN
&HA40 REM CALCULATE MEDIAM
HED QF="What is the median of "+d%
A6EO A=DCLHTINT (DN/ZY ) s AS=8TRS (A) : Ad=RIGHT
HOAS, LEN(A%) 1)
H70 HE=A%+" 1 middle no."
HBO RETURN
QO END
700 REM FAINT FENCE
T10 X=14
715 R=32
20 Y=142
725 I=I+1sI$=INEEY$: IF I$<:"" THEN GOTO
310
S0 PLOT X, Y:DRAWR R, 0
740 Y=Y4+2Ru IF YC2RE6 THEN GOTO 725
750 X=X+48s IF X<=4446 THEN GOTO 720
760 FAFER L:FEN O LLOCATE 58,9 FRINT CHRS$
(240) 5 s FAFER O:FEN 1:SOUND 1, 100, 10: S0UN
D 1,200,40:80UND 1,140,20:50UND 1, 100,75
770 GOTO 355




SEQUENCE
COUNTDOWN

24 SECS

469 13 18 24 ...

Six numbers, or letters, will be displayed on the screen and itis up
to you to provide the next logical item to complete the series.

How to play

When you have worked out your answer, type in your item and
press ENTER.

A wrong answer will bring you the correct result from your
computer, and then you will be handed back to the next sequence.
If you wish to PASS on a question then press P and ENTER and
you will be taken on to the next question.
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After 11 attempts your score sheet will be displayed showing the
number of sequences tried, correct answers, your time, and your
1Q level for adaptibility.

Programming hints

One change you could make, is to add new sequences. To do this
allow W to have alarger maximum value in line 170. The sequence
must then be defined after line 210. The sequence is held in S(2),
S(8), S(4), S(5), S(6), S(7) and S(8). S(2) is defined in line 150 and
is fixed for all sequences. IC is another random value which may
be useful when defining a sequence. The message saying how the
sequence is created is held in MS8$. If the last number in sequence
S(8) is less than 26 then the sequence is converted to letters.

The Program

10 REM SEQUENCE COUNTDOWN

20 REM (C) 1984 6. LUDINSETI

F0 REM

40 DIM S(8)

G0 MODE 2

70 TE=OQ3 CR==0

B0 CLS

85 LOCATE 1, 7:FRINT"SEQUENCE COUNTDROWN"
Bé LOCATE 2,45 PRINT"What is the next nuam
ber in the sequence 2

GO TE=TE+ ]
100 TF TE=11 THEN GOTO 10

110 FEM

120 REM WORE OUT SEQUENCE

130 REM

140 §(1)=0

150 G2 =INT (RMD (1) #9) +1

160 TC=INTRND (L) #9) +1

170 W=INT (RMD (1) ®3)

180 FOR I=3X TO 8

190 IF W=0Q THEN S(I)=2#5(I-1)-5{I-2)+I1C:
M#&="The interval increases by "+8TR& (I
+" emach time"
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200 IF W=1 THEN S(I)=8(I-1)+S(I-2)+IC:M%

="Each number is the sum of the previous
two plus "+8TR&(IC)

210 IF W=2 THEN S(I)=5(2)"(I-1)sMé="Each
number is "+S8TR$(SE))+" to the power o
2.053,4,3,6 and 7"

NEXT I

REM

REM

REM DISFLAY SEQUENCE

REM

270 IF S(8) »26 THEN LOCATE 2,9:FRIMT STR

S8 "ISTRS(S(E) )" "i8TR$(B8(4))3 "

"IOTR$S (S (S )" "ISTR$(S(H)) 5" "iSTRE (S (7

280 IF S(8)«<=26 THEN LE=1:L0CATE 2,9:FRI
NT CHR$ (64+S(2)) 53" "iCHR®% (64+5(Z) )" "iC
HR$ (H4+S(4) ) 3" "iSTRE(SH4+E (D))" "1 8TRS (
HA4+S (L)) "

FSTRE(LHA+S(TINE" e v

290 REM

Z00 REM INFUT ANSWER

210 REM

J20 I=0

AE0 Ie=""1FOR A=1 TO I-1lsI$=I6+F%(A)aNEX
T A

I60 REM

A70 REM CHECE ANSWER

280 REM

90 INFUT D$

400 ITF LE=0 AND VAL (D$) & (8) =0 THEN FRIN

T"Yes, correct — well done":CR=CR41:GOTO
450

405 ITF LE=0 THEN GQTO 440

410 IF De=CHR® (&4+5(8)) THEN FRINT"Yes,
correct — well done":CR=CR+1:G0T0O 450
420 FRINT:FRINT: FRINT"no the answer ="i8
(8)

4730 IF LE=1 THEN FRINT:FRINT"Replace eac
h letter by its position number e.g. 1 f
or A, 2 for B etcu”

440 FRINT:FRINT M$

450 FRINT: FRINT"Fress ENTER to continue"
460 INFUT BS
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470 GOTO 80

480 REM

490 REM SCORE SHEET

S00 REM

510 CLS

520 LOCATE 1, 2:FRINT"Number of sequences
completed ="3iTE

SE0 I@=INT (CR*100/53)

360 PRINT: FRINT"Yow IG level (adaptabil
ity) ="3I@

S70 FRINT

580 IF CR»=7 THEN FRINT"This is classed

as superior (UFFER 10%) ":END )

5835 IF CR=6& THEN FRINT"This is classed a

s good (UFFER 20%) ":END

S90 IF CR=3 THEN FRINT"This is classed a

s fair (UFFER &60%)":END

595 END



ELEMENTARY
STATISTICS

Qu.iz 9ame 4 — Elementarsy Statistics

Hello.what is wour name?GORDON

Here asre some Problems GORDON

Lenoth of histo9ram rectan9le of mark 2

where marks asre 3.2.,1.,2.2.,3,4.3.4 = 1

No., len9th is number of =s=cores with mark
2, trw 393in

Len9th of histo9ram rectan9le of mark 2

where marks are 3,2,1.2.2.2.,4,3.,4 = 2

is =

Sorrw., the snsuwer

3

a= there sre 3 score=s of mark 2

1 2 3 4

Could you draw a bar chart (histogram) of a given set of numbers?

Could you understand a bar chart which someone else had
written? Here you can test your knowledge on bar charts and
means by answering as many questions on these subjects as
possible, in five minutes.

This program has an added feature which is that the bar chart will
be drawn, by the computer, at the end of the problem. In addition
an explanation will be provided.
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How to play

You will be given five minutes to answer as many questions as
possible, and you may press P and ENTER for pass if you cannot
work out an answer.

You will not be penalised for ‘passes’.

At the end of five minutes, or sooner if you enter N for NO in answer
to the question “do you want any more”, your score sheet showing
tries, correct answers and average time per answer will appear. If
you wish to proceed then press Y and ENTER and the program will
continue to ask you questions.

You can have two tries at each question if you wish. After the first
attempt you will be given a hint as to the correct answer. If your
second answer is wrong you will be told the solution and how it was
obtained.

If you cannot work out an answer then press ? and ENTER and
your computer will turn into a calculator and you can then use the
normal mathematical symbols on the keyboard. Do not type = at
the end of your calculation. For the calculator's answer press
ENTER. To return to the main game press ? and ENTER. Always
remember to press ENTER after each required response.

Programming hints

The box chart is drawn using solid squares. These are user
defined characters with all the pixels filled in and are created at the
beginning of the program using VDU 2 3. The bar chart is held in
N(0) and N(1). The number of each of the marks are held in the
array F and the bar chart is drawn from this.

You could increase the number of scores. To do this you must
increase the maximum value of J in line 260. The array D would
have to be reDIMensioned in line 30. Remember also, if more
scores are used then the sum or the marks must be divided by a
number larger than 9 in line 340 to get the correct mean value.
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The maximum number of any particular mark would also be
greater than 9 so the maximum value of | in line 500 would have to
increased.

The Program

10 REM ELEMENTARY STATS

20 REM (C) 1984 5. LUDINSEI

23 MX=0

S0 DIM F(4),D%)

40 DEF FNMNO$(G$,N) =LEFTS (G6, N)

S0 Se=" "

51 V=0 Y=0

52 Yé="Highest Score "ik$=" Score "

A0 MODE 2@ BORDER Z:FRINT"QUIZ GAME 4 ELE

MENTARY STATISTICS"

70 FPRINT:FRINT

80 INFUT"Hello, what is youwr name "
FASFPRINT:FRINT"Here are some problems f

or you "iA%

PO W=1:C=0sT=1u I$=""1F=0

100 F=F+1

110 GOSUR 252

120 REM

125 CLS

120 LOCATE 1,6:FPRINT Q65" = ":608UR 612
126 IF V=2 THEN F=F-1:60T0 200G

142 IF A=0 AND I$>"0" THEN GOTO 190

145 IF Is=L$ THEN GOTO 170

150 IF (ARS (VAL (I$)-A)<=X) AND I®<:"" TH

EN GOTO 170

160 GOTO 190

170 LOCATE 1,4:FRINT"Yes, congratulation
=1 "y C=CH1:PRINT: IF Ad%="N0O
SOUND" THEN GOTO 2220

180 SOUND 1,100, 10:80UND 1, 200,40:S0UND
1,140,60:80UND 1,160,100:60T0 230

190 IF T=1 THEN LOCATE 1,14:FPRINT"No, "3

H&:i ", try again "R T=2:60TO 13

0

200 FRINT"Sorry, the answer is = "§:FRIN

T L& FRINT M#$
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210 LOCATE 1,22:FRINT" 0 1

215 FOR J=1 TO 4:H=20:F0OR E=20 T0O (20-D(

JY) STEF —1:L0CATE J¥é6+1 H+1oFRINT "t

+" s H=H-1sNEXT E:NEXT J

230 LOCATE 1,24:FPRINT "Do you want more
(Y/N) "

AES I$=INKEYS

240 IF I$<="Y" AND I$<x"y" ANMD i$<:='"n" A

ND I%="N" THEN GOTO 235

250 IF [$="VY" OR I$="yv" THEN T=1:CLS:G0T

0 100

251 6AOTO &70

252 REM QUESTIOM

D60 b=t Mb= g N M B0 a (L) =00 F (2) =

OuF () =Qu 7 (4) =0y G "o FOR J=1 T0O &

D70 DAI)=INT RND (L) #4) 2 BE=G8+5TRE (D) )+
"M B (84D (J))

280 FOR k=0 T0O Z:IF DOI)Y=k THEN F (E)=F (k
290 NEXT EaNEXT JiW=-—W

IO Ze=" where values are "+G6%

10 IF W=l THEN X=0

ZR20 IF S/9=INT(8/9) THEN GOTO Z80

ZEO OINC=9®INT(S/9) +9-5

F40 DR)=D(?)+INC

50 GF=0G%+O8TRS (D (D))

F60 G=5+TNEC

A70 QF="Mean value scored where values a
re s

80 Hé="mean = total values scored divid
ed by number of scores":A=INT(S/9)

390 Le=8TRS (M +" as sum of ("+@E+") /9 =
"HETRS (A)

400 IF W=1 THEN M&=""2G0TO 510

410 X=0:F$=8TRS (CINT (RND (1) %4) ) 1 A=F (VAL (F
$))

420 Q%="Height of histogram rectangle of
value "+F$+74%

430 Hé="Height is number of scores with

value "+P&+" v

440 L$=5TRS (A) s ME="as there are "+5TRS$ (A
Y oseores of value "+PE: IF A=0 THEN M=
"as there is one score of valuwe "-+F$

AE NS (Ly=""a NG (2) =Y

44650 FOR I=9 TO 1 STEF -1:FOR E=1 TO 4

b
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470 Né=NE+" "
490 NEXT K:NEXT I
SO0 Né=Ng-+" 1 2 A 4n
G510 RETURN
612 REM EEYIM
620 G=1aVP=211HF=0
625 LOCATE 1, 2:FRINTY TRYEIMXs RS0
6HI0 OF=INEKEYS$: IF 0Q$<:="" THEN GOTO &40
H 32 Y=Y+1s IF Y=8200 THEN F=PF-1:607T0 &70
H34 GOTO &30
640 IF ASCOH) =173 THEN V=2Z:RETURN
630 IF Qg%="7" THEN GOSUER 8O00:GATO &30
635 I4=0%
GHO RETURN
670 REM SCORE
&HB0 CLS
700 FPRINT"Number of problems completed =
"sINT(F)
710 FRINT: FRINT"Number correct = "§INTC
)
740 IF CHMX THEMN MX=(
TEQ =0y C=0
7HEO INFUT"Again (YR "sEsy TF LEFTS (B$, )
YUY OAND LEFTS (B, 1)y THEN EMND
770 RUN
BO0O0 INFUT Us: IF Us="7" THEN LOCATE 1,325
s PRINTY "
f o RETURN
Bo0Ol LOCATE 1,22 FRINT"
TR VAL (US) s GOTO 8000
@RI REM




NAME THE GRAPH

This is agame of logic. You have an aim, to find the equation of the
graph that is drawn on the screen. You key in numbers to
represent an equation. You can see straight away whether you are
getting closer to your goal as the graph of the equation you keyed
in is drawn on the screen.

By making the three numbers required larger and smaller, positive
and negative, you can see how it effects the graph and hopefully,
you can watch your graph getting closer and closer to the target
graph until you hit it.

If you give up you will be told the answer, but don’t cheat.
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How to play

All graphs drawn are of the type
y=Ax’+Bx+C

Where A, B and C are constants (that is numbers that can be
positive or negative). For example, the equation might be

y=-2x*+3x-5
and in this case Awould be equalto -2, Bequalto 3and Cto-5.

You must key in three numbers all at once on the same line
and separated by commas. Press ENTER only after you have
keyed in all three numbers. In the example above you would
key in

-2, ENTER, 3, ENTER, -5 then ENTER

Then the graph of this expression is drawn and you must
make another guess. If you cannot guess the answer key in

WHAT, ENTER, IS, ENTER, IT then ENTER
and you will be given the answer and the program ends.

If you guess the answer correctly then press the escape key
and a new graph will be drawn.

Itis more fun if you find out how to do it by trial and error, but
if you want a hint to get you started then this is it. (Skip the
next paragraph if you do not want to know)

If the first number (A) is positive, the graph will point upwards
(ushape), and ifitis negative the graph will point downwards
(n shape).
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The Program

10 REM NAME THE GRAFH

20 REM (C) 1984 G. LUDINSKI

30 REM

49 BORDER %:MODE 2

=50 REM

60 REM DRAW AXES

61 REM

70 SYMBOL 240,30,16,16,16,16,16,16,16
8O SYMEOL 241,0, 128,128, 128, 255,0,0,0
100 FOR X=1 TO 22:LOCATE 1,X:PRINT CHRS (
240) 5 NEXT X

110 FOR X=1 TO Z2:LOCATE X, 12:FPRINT CHRS
(241) 5t NEXT X

120 REM

130 REM DRAW TARGET GRAFH

140 REM

130 A=INT (E#RND L) +10 1) s D= INT (SeRND (L) +2

1HO Co=TNT (FRIND (1) %20)

170 FOR H=1 TO RND (1) #*4+1 A=Ay D=-DyC=-{
s NEXT H

180 F=AzQ=D1R=C

190 AA=A: BR=D: CC=C

200 GOSUR 1000

210 REM

220 REM INFUT AND DRAW GUESSED GRAFH

250 REM

240 G=0

245 G=G+1:2IF G=11 THEN CLS:FRINT "The an
swer was "iAast,"iDs, "8 again (
Y/ZM) " s INFUT G6: IF LEFTSE S, 1)<x"Y" AND
LEFTS (0%, 1)

Sy THEN END

246 IF G=11 THEN RUM

280 IF G<>1 THEN LOCATE 1, 1:FRINT"Guess
"igs!" Last guess = "iABy","IRE:", "1 0 IN

FUT AsiR$:CH:6OTO 270

2895 LOCATE 1,1:FRINT"  Y=AX"2+BX+C G
UESS AR and C"

260 INFUT A%, EBe,C%
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270 IF A®="WHAT" AND BH="18" AND C#="IT"
THEN G=10:G0T0 245
280 J=VAl (a%) o E=VAL (B$) o L=VAL (08)
295 AA=J:RE L=l
SN0 GOSUR 1000
J00 IF J=A AND k=D AND L=C THEN CLS:FRIN
T "CORRECT":FOR F=0 TQ 999:NEXT F:RUM
310 LOCATE 1, 1:FRINT" Flease wait
" EOSUR 1000
FT20 6GOTO 280
1000 REM
1010 REM GRAFH
1020 REM
1040 FOR X=0 TO 200 STEF 3
1O50 Y= (AAXX"2) 7400+ (BR¥X) /10+CC+110
1060 IF Yx1&67 OR YO THEN GOTO 1095
1090 PLOT Z2xX,2%Y
1098 NEXT X
1100 RETURM




FRANCIS DRAKE
ADVENTURE GAME

]

:

Week Cargo Food Crew Balls Damge
10 90 91 85 90 0

8 Are you going to fire your cannons at the galleon, or set fire to some old
ships and let them drift towards it, or sneak up alongside it and board it.

This is by far and away the most ambitious, interesting and testing
program in this book.

This is an authentic historical adventure game based on Francis
Drake’s circumnavigation of the world, from 1577 to 1580. As you
travel in the footsteps of the greatest of Elizabeth the First’s free-
booting adventurers, you will encounter the same problems and
challenges as Drake.

Drake sailed in search of the elusive North West Passage that
would allow him access to the Pacific, and the galleons of the
Spanish Empire. As history books will already have told you, he
did not find the object of his quest, but he did find much more, and
so will you as you sail into the Francis Adventure Game.
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How to play

First you will hear the gentle lapping of waves against the shore
and you will see title. Then a map is displayed.

On the map you will see your position marked by a white sailing
ship, docked near the port of Lima.

Everytime you use this game, the dangers and treasures will be
located in different parts of the ocean, so do not think that you can
predict your moves too easily. We didn't feel it was fair, however,
to move the rocks and reefs during the game so try and remember
their locations. It will help you considerably.

You must follow Drake’s route by first travelling to the port known
as New Albion and thence onward, past Java, to the bottom left
hand corner of the map.

Your aim is to reach the bottom of the map with, at least, four times
the amount of the cargo with which you began.

If you achieve this feat of daring then you will, naturally, be
rewarded by the gift of a knighthood from your grateful, and
avaricious, Queen.

You move using the ARROW cursor keys unshifted. That is, do
not press the CAPS SHIFT key.

If the computer does not understand you, you will hear a beep.
This also occurs when you run into a reef or rock.

At intervals you will be told the situation at sea and asked which
action you would like to take, from the choice shown.

Remember to consider your options carefully as to the amounts of
cargo, food, cannon balls and crew conditions.

Damage rating is based on a 1 to 10 scale. If you are damaged to
the level of 10 then I'm afraid that it's into the sea for you, as the
Golden Hind settles gently below your feet.
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Do your best, as the present Government is emptying the coffers
more quickly than you are filling them.

Hints and changes you can make

One of the problems of displaying a map on the screen, is how to
reduce the memory required and the number of lines needed to
describe the map. This is done here by defining a string array m,
with the number of elements being equal to the number of rows on
the map. Standard shapes that are not available from the
keyboard are then defined. The shapes are as shown below. Each
is assigned to an element of array g$.

131 140 133 138 212 214 213 215 143

m = LD 0 7V 4 N AN B
g%(1) g%(2) g3(3) g¥(4) g%(5) g3(6) g%¥(7) g%(8) g%(9)

Each row of the map is assigned to an element of m$ using the
above shapes, and zero (to represent blanks).

If you find the adventure too easy, then reduce the cargo (ca), food
(su), crew (cr), and/or cannon balls (ba) that you start with. They
are on line 1130. If you find that knighthood escapes you, then
reduce the 400 in line 1180.

The Program

10 REM Francis Drake Adventure Game
20 REM (C) 1984 G. LUDINSEI
S0 MODE 1:RORDER O

40 GOSUR 2550

70 REM

80 DIM MECL7),568(9)

GO CLS:PEN ZiPalFER |

100 CLS

L1 G (1) =CHR$ (131

120 G4 (2) =CHR® (1400

1E0D G CR) =CHRS$ (133
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140 G4 (4)=CHR$ (138)

150 GH(5) =CHR$S (212)

L&D G (H) =CHRS (214)

L70 GE(7)=CHR& (2173)

180 G$(8)=CHR$ (213)

190 GH(9)=CHR$ (147)

290 ME (1) =" Q999T0450000007999999999%0
OO "

Z00 MB () =" Q@QQREOO000000007F999999950)
O "

210 M () =" 999999700000000000%RR9E 17300
00 "

Z20 ME (4 )y =" GQUGQREOODOO0OODDO0NT TR0 00
[RI9IL

EEO ME (F) =" 7000000000000 0000%R000000)
RIS L

A0 MBS )Y =" ORBO0OEO0O0DO0O000OQ0O00T RGO
(SIS

IEO MB (T )" Q4700000000000 0000C0 1 1L QE000

ME (€

IS MRS TRINININL IRININTIRIRINIS A

wo
Z70ME ()= DBT0060000000000000000000 1 59
(f;\) (.'}) n

O MB(L0) =" O7EO6FE0000000000
() (T)) (.'; "

IGO0 ML) =" OOTOF0
GG v

GO0 M (LE) ="
C}7 C)‘) (.}) n

410 M& (13 =" 0000000 LOODODODHN
G n

4 M L) =" QOODGO000EDOEOO0000O0000DD000E

SINISTeE)

22000000

D00 ET

U0 T E L 00000

SIRINININININEY

D000 EPFFEPOOOODOD0ONOO000

DUD00&APFIRERERODOOOOOO0DC0D0N0

CHES (aa4+-T) 5 "

o,
now

Ieron
A& G (P s
470
4RO FRINT
490 NEXT J
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S00 FAFER O:FEN 1:L0OCATE 20, 1:FRINT".New
Albio"i :FAFER 1:FEN O:PRINT"n":FEN 2:0.0
CATE 26, 15:FRINT"Lima"i :FEN 1:FAFER O:FR
INT".":FEN 2

rFAFER 1:LOCATE 2, 13:FRINT"Java"

920 FEN Z:FPAFER O:FLOT 20, 94:DRAWR 480, 0
tDRAWR O, 28462 DRAWR ~46, 0:FLOT 20, 94: DRAW

R0, 256: DRAWR 272,00

S22 PAFPER Z:FEN O:LOCATE 1, 17:FRINT"Fran

cis Drake left Flymouth in 1577 to sear

ch for the North-West passage to theFaci

fic.He encou

ntered stormy weather inthe Straits of M
agellan and lost two ships. Then the w
ind dropped "

740 S "

780 AlL=0

790 DEF FNR (N =INT (RND (1) %N-+1)

BO0 SYMEOL 240, %10, %54, &858, 52, 457, 4FE, &
7E, &3E

860 HE=CHRS (240)

870 L$=CHRS (Z242) ¢ Te=CHR$ (247) 1 D$=CHR$ (24
1) 2 Us=CHRS (240)

10220 MEC(15) =" 0Q00000699F8900000000000"+5

TRINGS (4, CHRS (240) ) +" 595

105D M$ (16) =" 00000499999280000000000" +&

TRINGS® (3, CHRS (240) ) +"99 °

1040 FOR Y=1 TO 1é

1050 FOR X=2 TO 31

1060 CH=MIDS (MECY) , X, 1)

1070 IF Cé="9" THEN GOTQO 1120

1080 IF CE="0" THEN IS=INT{(7*RND(1)):605

URp 2170:60TO 1120

1090 IF CEH=CHR$ (240) THEN IS=4:608UB 217

O:EOTO 1120

1100 IF (Xx4 AND X<1% AND Y7 AND Y:14)

THEM IS=INT (2RND (1) +7)  GDEUR 2170:607T0
1120

L1310 T8=108G0SUR 2170

L1220 MEXT XoMEXT Y

L1730 CaAs=100n 5U=1001 CR=8%5 Bf= 100y D=0y Wk

1

1140 El=0O

1150 X=291¥=16sX1=2%2Y¥1l=16é

1160 TF We=1 THEMN FAFER OsFEN 35 LLOCATE X
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1170 FAFER 2:FEN O:LOCATE 1,17:PRINT "be
ek Cargo Food Crew Balls Damg.

"o
n

1172 IF We=1 THEN GOSUEB 1710
1180 IF X=1 AND Y=1& THEN FAFER O:LOCATE
1,19:FRINT"You have swvived the unknow
n and now knot you are the first fleet
commander
to sail around the world,"§i3IF CAF=400 T
HEN FRINT"Arise Sir Francis":607T0 2210
L1190 IF X=1 AND Y=1& THEN EM=1
1200 IF (X=17 AND Y=1) 0OR (X=18 AND Y=2)
OR (X=19 AND Y=4) THEN AL==]
1210 IF X<19 AND AlL=0 THEN GOSUR 1710210
CATE 1,19:FRINT "Go back to New Albion"
1220 IF SUC=0 THEN GOSUR 1710:LOCATE 1.1
F:FRINT"Your food has been used up so yo
wr crew mutinies, and kills you':SU=02EN
1230 IF CR<=0 THEN GOSUR 17102 L.O0CATE 1,
19:FPRINT"Yowr crew have all been killed
or have died of scurvy,typhus or dysent
ery. You are
stranded without them. " CR=0EN=]
1240 IF DAXLO THEM GOSUR 1710:LO0CATE 1,1
QaFRINT"Youwr ship has filled with walter
and sunk'"rEN=1
1250 IF BACO THEN BA=OD
1270 FEN O:FAFER 20L0OCATE 1, 182 FRINT Wk:
LOCATE &, L8:FRINT CAxLOCATE 12,
SULOCATE 17, 18 PRINT CReLOCATE 23
INT BA:LOCAT
28, 18:PRINT DA
1272 TF ENM=L THEN GOTO 2210
1280 I¢=INKEY$: IF I$="" THEN GOTO 1280
1290 GOSUR 1710
1300 IF (X=1 AND Id=L%$) OR (X=30 AND I¢:=
T4y OR (Y=1 AND I$=Us) OR (Y=14& AND I%=D
$) 0OR (I$<:=Us AND I6:DE AND I kL$ AND
Tdal =TH) THEM
GOTO 1280
1210 IF I$=L4 THEN IF MIDS (MS(Y), X~1,1)+
0" AND MIDS (MEY) , X1, LY<="e" AND MID%
(M (Y)Y o X DY ="2Y THEN Xs=X-1

L6 PR
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1320 IF I4$=T¢ THEN IF HTDS(M@(Y),X+1,1){
FU2TOAND MIDS (MS (Y)Y , X+1, 1)< ="9" AND MIDS$
(MS (YD), X, L)< ="0n THEN k~)F1

1330 IF I$=D% AND (MID$’M$’Y+1) Xy 1)
" AND MID$(M$(Y+1) Xopl)Sznen AND MID%(M%
(YY) X, Ly<="1") THEN Y= Y+1

1340 IF %»U% THEM IF (MID%(M%(Y 1y, X, 1)

LETLYOAND MIDS (MS(Y-1) , X, 1)< -men AND MID

SMBY) X, 1) =EY) THEN Y=Y l

1350 W=+ 1

1360 IF DAL THEN DA=DA+1

170 SU=5U-1

1380 FARFER OsFEN Z:LOCATE X1+2,¥V1aFRINT
PE0 LOCATE X+2,Y:FRINT H®

1400 TF Y'*x.l AMD Y=Y 1 AND WE-F1 THERM SO0
MO 1, 100, Z0:G08UR 1S970:60T0 1470

1410 IF MIDS (MS Y, X, 1r="A" AND DA< TH
EN DA=OQ: GOSUE 1710 LOCATE L, 1% FPRINT"You
have arrived at a port, S0 you can  now
get your sh

ip repalired":G0T0 1470

1420 MME=MIDS (MS YY), X, 1)

1425 TF MM&="4" THEM GOSUR 1710:60T0 147

140 TF MM&="5" THEN GOSWUR 17350

1440 IF MHM&="&" THEN GOSUR 1850

1450 TF MM&="7" THEN GOSUR 2110

1460 IF MME&="8" THEN GOSUR Z140

1470 Xl1=XsYl=Y

1480 GOTO 1170

1490 REM THSTR SURBFRQUTINE

1500 F=TNSTR (FR$, Cs)

1560 = TURN

L5700 REM REEF SURBROUT INE

1880 W=INTRND (1) %2

18590 IF X419 THEN E$="REEF":G0TO 1&10
1600 Es="ROCKE"

] GOSUR 1710

ITF W= THEN LOCATE Ly LS eFRINT" There
"PESE" ahead. Turn around":GOTO 170
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1L&E0 LOCATE 1, 19:FRINT"You have run agro

und on a "iE$I". Are vou going to thro

w cargo and guns overboard,or put out an

chor to wind

ward"

1640 LOCATE 1,270 INFUT Ré$s Cd="0VERR" » GOS

LB 15000 IF P =0 THEN R FuGEOTO L1670
LEE0 CH="ANOH" ¢ GOSLE 20 T P00 THER R

SEe EOTO 1670

1460 GOUND 1, 100, 200 GOTO 1640

1&70 TF Rés="0VE THEM GOSUE 17108 Ch=CA

=FNRCCZO) 2 GOTO 1700

16B0 W2=TNT (RND (1) *2) s GOSUER 17100 IF W0
THEN LOCATE 1,19:FRINT"You have broken

free without any significant dama

ge":GOTO 170

(%]

14690 LOCATE L, 19:FRINT"Youwr ship, the Gol

den Hind, is holed. Feturn to dry lan
o at once or it will sink"sDAs

DAL

1700 RETURN

1710 REM BLANME SURROUT IME

1720 FAFER Qs LOCATE 1, 19:PRINT SFACES (1é&

)y

17350 PEN

1740 RETURN

1780 REM NAMESHIF SURBROUTINE

1760 GOSUR 1710

1770 IF RNDCL) =005 THEN LOCATE 1, 19:FRIN

T"You see a Spanish galleon,the Cacafueq
o.Are youw going to attack it or ignore i
"2 GOTO 1790

1780 LOUATE L, 19:FRINT"You see & Spansgih
gallean, the Esprito Santo. Are yvouw gol
rg to attack oo
1790 LOCATE '
SUE 1S00 ITF
1800 CH=" TENMO
Re=CHa GOTO  1EE0

1810 SOUND 1, 100, 305070 1790

..

s GOSUE LS00 TR a0
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1820 IF R&="ATTACE" AND B&d=0 THERN GOSUR
1710 L0CATE 1, 192 FRINT"You draw alongsi
de the galleon and then find yvou have no
canrnonbal ls

left, so the spanish win the battle a
nd leave youto die"sEM=1:6G0TO 1840

1820 IF R&="ATTACE" THEM GOSUR 1710:L00CA
TE 1, 192:FRINT"You fight & fierce battle
and fFimally take commacd of the galleo
moand transt
erits cargo to the hold of yvouw ship'™sCA
----- AR C200 8 BE=TSe--F N (200
10 RETULRR
FEF SHIF SUERROUT TME
1€ SOGUR 1710

1870 LOCATE Ly 19 FRINT"You see & Spanidsh
galleon. hre vou goingto attack it or 1
grore 1t

1880 LOCATE 1,2

2u TNFUT R&E: Ce="ATTACK "« GO
SUR 18000 IF P00 THEN R$=C$:GOTO 1910
1890 Ce="IENORE" : GOSUR 15000 ITF =0 THEN
Fi=CHe GOTO 1910
1900 SOUND 1, 100, Z0:60TO 1880
LZ10 ITF Re="IEMORE" THEN RETURN
J‘Eu GOSUE 1710
1920 LOCATE 1,19:FRINT"Are yvou going to
fire cannons at the galleon or set i
re to some old ships and let them drif
L o towarde
S Ta L= wp and board it"
1940 L. tJL (4![ Ly B30 TNFUT Ré s Ces="CANNORN" « GO
SUR l S THEN R4 OTa 1980
| D ITRE"GOBUE 1SG0s TF PO =0 THERN
G GOTO 1980
19260 CH="GNEAK" 2 GOSUR L5000 TF PO 0 THER
FR&=CHu GOTO 1980
1970 SOUND 1, 100, Z0:60TO 1940
1980 GOSUR 171ﬁ
1990 IF R#$ "(,(ﬁrlllC]Pl" THERN GOTO 2020
2000 TR LND(I) 5OTHEN LOCATE 1, 192:FRIM
T"Youwr ship qeLa holed and some of Vo
crew are shot.Retuwn to dey land at on
ce' s DA=DA+1
BA=RA-FNR(Z20) 8 CR=CR~-FNFR (10 : GOTO 2020
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2010 LOCATE 1,19:FRINT"As youwr ship is s

maller and lower than the galleon, you

manage to put it out of action and board
it": CA=CO+F

MR{Z20) : SU=8U+FNR {Z20) 1 BA=BA+-FNR (20)

2020 IF R$<H"FIRE" THEN GOTO 2060

2030 GOSUR 1710

2040 IF RND(1) >0.5 THEN LLOCATE 1,19:FRIN

T"The wind changes direction and the
burning ships move towards vou setting
the mizzen

mast alight.Return to port atonce”:DA=D

A+L s GOTO 2060

2050 LOCATE 1, 19:FRINT"The burning ships
drrift towards the galleon setting i

t alight. The captain swrenders and yo

W transfer h

is cargo toyowr hold": CA=CA+FNR(20) 1 8U=5

U-HFMR (200 1 BA=RA+FNR (20)

2060 IF R&CXUSHNEAE" THEN GOTO 2100

2070 GOSUR 1710

2080 IF RNDOLD) 0.5 THEN LOCATE 1,19:FRIN

T'"They see vou approaching and open fire

« shooting some of youwr crew and damagin

g yvouwr ship.

Return to port at once':BA=RA-FRNR20):D

A=DA+1: CR=CR~-FNR (10Q) : GOTO 2100

2090 LOCATE 1, 12:FRINT"They assume you a

re Spanish as English  ships have never

beern this far before,sc

leon and cap

ture 0" CA=CA+FNR (200 ¢« SU=SL+FRR

Ba--FRE 200

2100 RETURM

2110 REM TRADE SURROUTINE

2120 GOSUR 1710:LOCATE 1, 19:FRINT"You bu

vy cloves cheaply from the islanders':CA=

CA+FNR (20) @ SU=SU+FNR (20)

21RO RETURM

2140 REM HOSTILE SUBROUTINME

21580 GOSUER 1710:LL0CATE 1, 19:FRINT"Hostil

e islanders pelt you with stones killing
some of youwr crew' s CR=CR-FRR (20

2160 RETURN

2170 REM SUBROUTINE

' ’:‘ H ,('_( ,-’.':] nm
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2180 IF TSCH10 THEN MIDS (FE Yy, X, L) =0OHRS
(I5+48) :60TO 2200

MIDS (M (Y) Xy 1) ="an

RETURN

e END

250 REM TITLE SURROUTINE

2560 CLS

2E70 LOCATE 1, 10

2580 FRINT" FRANCTS DRAEE" OO0
ATE 1,11

2590 LOCATE 1,320

2600 FAFER 2:FEN OsFPRINT " COPYRIGHT (C
) 1984 6. LUDINSEI":PAFER O:FEM 3

2605 TF INEEYS="" THEN GOTQ 26035

2607 IF INEEY$="'" THEN GOTQ 2607

2610 RETURN

2ET0 RETURN




WIRE MAZE

Well at last you have your own robot to cut the grass, clean the car,
wash the windows and take the dog for a walk. There is one snag,
however.

Your robot has been wired up incorrectly. It must have been Friday
afternoon when the other robots put your model together. At the
moment, if you press the arm-control button the robot’s legs move.
You, I'm afraid, are going to have to rewire your new family friend.

How to play

As the program begins, your robot will be drawn on the screen.
When the robot shape is completed, the screen will go black and
the wiring will be added along with the control buttons. The robot,
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complete with wires and buttons will reappear and you will then
have to trace the wiring.

Control buttons are:

Red 1
Yellow 2
White 3

At the top of the screen will appear the word Head and the three
colour buttons. You must decide which of these buttons is
connected to the head and press the corresponding number key
and ENTER. One wrong try means you must try again, and a
subsequent wrong guess will cause your computer to give you the
correct answer. If you think about it, if you have guessed two
wrong from three, you should know the answer by now anyway.

You continue for the arms, legs.

To play again, with a different maze, press RUN.

Programming hints

You might find the wire maze too easy. It can be made more
difficult by increasing the length of each wire by increasing the
larger number in line 420.

The Program

REM WIRE MAZE

REM (C) 1984 G. LUDINSEI
: DIM X5, Y35, WiE

75 RORDER S

8o MODE 2

0 REM

100 REM DRGW RORBOT

110 REM

LEQ A=T0rR=0500 C=120:D=125: GOSER 680
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140 A=0:RB=500:C=273:D=353: GOSUR &80

150 A=0pB=3530:C=35:D=150: GOSUR &80

160 Aqun B«?&U C=39:D=130:60SUR 680

170 n IS0 C=128:D=150: GOSUR &80

180 7J.H":U“ C=125:D=150: GOSUR &80

120 A=nb.*"idu.C~Euu.DmTD.BDSUB &80

200 REM

220 REM DECIDE WHICH CONTROLS CONNECT TO
WHICH FARTS

230 REM

240 FOR I=1 T0 3

250 WI)=INT{(RND(1)#*3)+1

260 IF (I=2 AND W(I)=W(1)) OR (I=3 AND (

WD) =W{2) OR W{I)=W{1))) THEN GOTOQ 230

270 NEXT 1

280 REM

290 REM DRAW WIRES

EOO REM

HRO0 X A1) =E0o0aY (1) =400 FLOT 40, 100 DRAWR

KAL) /G-40,Y (1) /&-100

IEO X AD)=RO00s Y (D) =400 FLLOT 275/5,400/62D

RAWR X (2) /527573, Y L2) /&=-400/6

D40 X AR =E00s Y (R) =200 PLOT 40, 50 DRAWR X
(2) 7580, (C5) /éH-50

A50 Xl=1zYilsl

AP0 FOR D=1 TQ A

400 Xl=—XloYl=-Y1lsX8=X11Y8=Y1

410 FLOT XY /5, Y(I) /6

420 FOR J=1 TO 100

450 DX=XS%INT (RND (1) #3204+10)

440 TF (X (D) +DX) <300 OR (X{I)Y+DX) =1200)
THEN X&S=-XS:G0TOQ 430

450 X (L) =X (1) +DX

440 DY=YS®INT (RMD (1) #20+10)

470 IF ((Y{(D)Y+DY) <80 OR (Y (I)+DY) =960) T

HEN Y8=-Y&:GOTO 460

480 Y {I)Y=Y (1) +DY

490 DRAWR DX/5,DY/76

HO0 NEXT J

510 REM

E20 REM DRAW BUTTONS

HI0 REM

FAD Q=X (1) s B=Y (1) s C=20:D=101G0SUR &80 A=
XAAI)+BaR=Y (I)+10:0=10:2D=10:G0SUR &80
550 LOCATE INT (X (D) /Z22)+1) , 26-INT(YL(I)/

HE8) sFPRINT WI) s
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SHO0 NEXT I

570 REM

980 REM WRITE QUESTIONS

650 REM

66O FOR I=1 TO Z:G0S8UER 730:NEXT I

&70 END

680 REM ELOCE SUR

60 A=A/S: B=R/&:C=C/5: D=D/6&

700 FLOT AL.B:DRAWR C,0:DRAWR ©,D:DRAWR -

C,0:DRAWR ©,-D

720 RETURN

730 REM QUESTION SUR

740 IF I=1 THEN F$="HEAD"

750 IF I=2 THEMN F&="ARM "

760 IF I=3 THEN F$="LEG "

770 LOCATE 1, 2:FRINT P$;" = 1 22 3"

780 LOCATE 1,9sFRINT" TeFRINTY
790 T=1

800 INFUT A%:AS$=LEFT$ (A%, 1) IF As<"1" OR
ABE"IEIY THEN LOCATE 1,3:FRINT"No."s::60T0O
800

810 IF VAL{(a%$)=w(i) THEN LOCATE 1,3:FRIN
T'ves " GOTO 840

820 LOCATE 1,S5:FRINT"No, try again":IF T
=1 THEMN T=2:60T0 800

B30 IF T=2 THEN LOCATE 1,3:FRINT"answer

= eIy "y

835 FOR Z=1 T0O S300:NEXT Z

840 RETURN



PATTERN PAIRS

If you have tried Odd One Out in this book, then you will find this
following puzzle a little more difficult.

There are nine patterns displayed on the screen, in a range of
colours, and you have only a few seconds to compare them and
nominate the pair, you believe, are a match.

Howtoplay

Identify your pair, note the numbers alongside and key in your
answer. You don't have to key in your answer in strict
chronological order. Just punch in your numbers and wait. Correct
responses will be awarded with a pleasant little high pitched tune,
but wrong answers will be faced with a low pitched little dirge.
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To continue, press Y for Yes and to stop, press N for No,
remembering to press ENTER after your response.

A score sheet will appear at the end showing your tries, results,
time and average time.

Programming hints

Each of the patterns is slightly different except for the matching
pair. This is done by displaying rows of graphic characters with
different INK and PAPER colours.

To reduce the time allowed to spot the matching pair reduce the
600 in line 430.

;I'"h-"e'Prog ram

10 REM FPATTERN FPATRS

20 REM (C) 1984 G. LUDINSEI

0 BORDER 7:MODE 1

50 DEF FNR(Z)=INT (RND (1) #Z+1)

60 DEF FNT=INT (TIME/S00)

90 DIM C(2,9),6(16)

100 REM

110 NU=0 CR=0

120 T1=FNT

1720 LS

140 NU=NU+1

150 FT=1

160 REM

170 REM DRAW TELEVISION

180 REM

190 We=ll12:H=54:FOR Y=276 TO 108 STEF 80

PFOR X=20 TO 510 STEF 176

200 PLOT X, Y:DRAWR W+20, 05 DRAWR O, Hi DRAW

R=W=-20, 01 DRAWR O, ~H

210 FLOT X410, Y+10: DRAWR W36, O

H- DRAWE ~W+36, Ot DRAWR 0, =H+20

220 FLOT X, Y:DRAWE —10, 10 DRAWE O, M DRAW

FoO10, =10 DRAWR —~10, 10: DRAWR W+20, 01 DRAWR
10, ~10

DRAWR Oy

e Ta
"
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230 NEXT X
240 NEXT Y
250 REM
260 REM GENERATE TESTCARDS
270 REM
280 W1=FNR(9)
290 Wa=FNR{(?): IF W2=W1l THEN GOTO 280
TOO0 WH=CHR$ (W1+48) +CHR$ (W2+48)
310 VE=CHR$ (W2+48) +CHR$ (W1-+48)
Z20 RD=INT(RND(19%47)+11)
I30 REM
340 REM DRAW TESTCARDS
350 REM
FH0 GOSUR &40
Z70 REM
E80 REM QUESTION
Q0 REM
400 LOCATE 1,20:FRINT" Which two are
the same"
410 Re=""3 I=03IC=0
420 IF INKEY$<:>"" THEN GOTO 420
Z0 I$=INEEY$: IF (I$="" OR I$<"1" OR I%:
QMY AND I4&600 THEN I=I+1:G0T0O 430
4735 IF I=600 THEM GOTO 480
440 FRINT I4$;:
450 IF IC=0 THEN IC=IC+1:R$=I%$:60T0 420
460 Ré=RE+I%
470 IF R&=W$ OR R$=V$ THEN FRINT: FRINT"Y
es, you are right":50UND 1, 120,20 CR=CR+
1:GOTO 490
480 FRINT:FRINT"NMo, "iWls" and "iWai" are
the same":S0UND 1,50, 10250UND 1,40,3
490 FRINT:FRINT"Do you want more (Y/N)"
D00 INFUT R$
510 IF R$<H"m" AND R$<="N" THEN GOTO 1730
S20 REM
530 REM SCORE SHEET
540 REM
550 ClLS
560 LOCATE 10,4:FPRINT"FATTERN FAIRS"
570 LOCATE 1,11
380 PRINT"Tests completed = "§iMUJ
S0 THM=FNT-T1
HOO FRINT:FRINT"Tests correct = "iCR
G100 FPRINT:FRINT"Time taken = "itm
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H20 TF CR< >0 THEN FPRINT:FRINT"Time per t
est = "JINT(TM/CR)

&HE0 GOTO 800

&H40 REM TESTCARD SURROUT IME

6HED FOR =9 TO 19 STEF o

660 FOR E=3Z TO 23 GTEF 11

670 LOCATE E+é6,Q-4:FRINT CHR$(FT+4670 5 o FE
N 2o FAFER S9:LO0CATE E+é6,0-2:FRINT 2"

680 CO=FT+RD:GS=FTs IF FT=Wl 0R FT=W2 THE
N CS=RD:GS=0

HPD FOR T=1 TO 2

700 FOR B=0 TO =

710 C8=CH+1:IF CSxé&bd THEM CH=11

720 6S=68+1IF G8x16 THEN GS=1

7ED QR=INT(CS/10) +FEN GQ:FAFER CS5-~10%GG:
LLOCATE E+R,Q-T-1:FRINT CHR% (127+G5)

740 NEXT E

750 NEXT T

760 FEN 1:FAFER QiFT=FT+1

770 MNEXT E

780 NEXT @

7590 RETURN

Q0o REM END
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Your rough, tough and ready desperado colleagues have fled into
the scrubland, dropping their guns and the loot.

Well we all know that a man, or a Calamity Jane, has got to do what
ever it is. So, you are on your own outside the bank and you have
to make it to the horses, which some idiot left on the outskirts of
town.

On the way you can collect money and guns with bullets and then
decide, if you run into the Sheriff's posse, whether to bribe or blast
your way to freedom. Obviously your aim is to reach the horses
with some bullets and some money.

We are not advocating here that crime pays — that is up to you.
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How to play

Use the ARROW keys to make your moves. However you need
not press the SHIFT key with the ARROW keys. When you have
read each message on the screen press ENTER.

Your footsteps will appear on the screen as you move toward the
horse in the top left hand corner of the screen.

Your progress will be recorded on the bottom of the screen, and
you will, in your progress, be told that you have run into the posse,
and you will then be asked if you intend to shoot or bribe your way
out.

Key in ‘shoot’ or ‘bribe’ then press the ENTER key.

Should you run out of bullets I'm afraid that a lynching is your fate,
as the posse were playing poker when you robbed the bank, and
the Sheriff had a Royal Flush.

If you key in anincorrect response a note is played. This is different
to the shooting noise that you hear after you shoot someone or get
shot.

; wPro'gi'amming hints

You can increase the number of events in the adventure by
allowing w on line 440, to be larger.

A subroutine describing the event, and the effect of it, on the
money and bullets can be written.

The new subroutines can be called after line 480 and included
after any of the subroutines.

Remember that
bu is number of bullets

mo is money
X is the random amount to increase/decrease
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The Program

10 REM WESTERN ADVENTURE GAME
20 REM (C) 1984 (G. LUDINSEI
30 BORDER &:MODE 1
40 X0=25:Y0=17
70 REM
80 CLS
0 REM
100 REM CACTUS AND HORSE
110 REM
120 SYMROL 240, %DR, &DR, &DRE, &FF, &FF, 218, %
18, %18
130 SYMROL 241,0,0, %60, %70, %5F, %1F, %11, %
11
190 FEN 1:FOR I=1 T0O 370:IF RND(1)>0.9 T
HEN FRINT CHR$(240)3 ELSE FRINT " "3
192 NEXT I
200 LOCATE 2,2:FRINT CHR$(241)
210 REM
260 REM DRAW BLANE
270 REM
280 FPAFER O:FEN Z:LOCATE 28, 16 FRINT
T LOCATE 28, 17:PRIMNT"RANE" » LOCATE 28,1
BuFRINT" "y FEN L
290 REM
00 REM
F10 BU=S:MO=5:DD=1
IR0 GOSUER 710:L0OCATE 1,20:FRINT DD:") Mo
ney = "§iMOi" Bullets = "iBU
IEQOIF BUC=0 THEN GOSUR 740:FRINT"You ge
t shot.Youw have travelled "iDDi" yds:":06
Q10 780
T40 IF Xo=1 AND Yo=1 THEN GOTO 780
ZH0O X=INT (RND (1) #5+2)
60 Te=INKEYS®: IF TH="" THEN GOTO Z&60
A70 IF TH<CHR$ (240) OR TH>CHRS$ (243) THEM
SOUND 1,200, 10:60T0O 260
IR0 IF Te=CHR$ (242) AND X030 THEN XO=X0
!
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I90 IF Té=CHR$ (247%) AND X0 :x39 THEM XO=X
O+ 1

400 IF T$=CHRS$ (240) AND YO0 THEN YO=YO
-1

410 IF Té=CHR$ (241) AND Y017 THEM YO=Y
O-+1

420 LLOCATE XO+1,YO+1aFPRINT CHR$(241)

430 DD=DD-+1

440 W=INT(RND(1)*4-+1)

450 FEN 2

460 IF W=1 THEN GOSUR 510

470 IF W=2 THEN GOSUR 610

480 IF W=Z THEN GOSUR &60

420 GOTO 320

500 REM

510 REM FOSSE SURBROUTINE

520 LOCATE 1,21:FRINT"You meet one of th
e sherriff's posse. Do you shoot or brib
@ "

SEO0 CINFUT i$

540 IF I$<>"SHOOT" AND I$<="RBRIRE" AND I
%< x"shoot" AND i%<>*"bribe" THEN SO0UND 1,
2RO, 10:60TO 530

550 IF (I$="bribe" QR I#H="RBRIRBE") AND MO
S=0 THEN SQUND 1, 220, 10:G07T0 530

555 IF (I$="SH00T" Or idg="shoot") AND BU
=0 THEN SOUND 1,220,10:60T0 330

D60 ITF I4="G8HOOT" OR I$="shoot" THEN GOS
UR 740 BU=REU-X ‘

S70 IF Is="BRIRBE" OR I$="bribe" THEN M=
M- X

80 IF BUCO THEN RBU=O

G0 IF MO0 THEN MQO=0

HOD RETURM

HLO REM BULLETS ROUTIME

H20 LOCATE 1,21:FRINT"You find "iXs" bul
lets that yvouwr gang has left behind”

HE0 BU=RU+X

HAQ TF INEEY$C="" THEN GOTO &40

64T TF TNEEYS="" THEN GOTO &435

630 RETURN

&HEO REM MONEY SURROUTINE

H70D LLOCATE 1,21 :FRINMT"You find "iXi" bag
= of money that youwr gang has left behin
a'
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HB0
&HQ0
&95
700
710
720
7350
740
730
760
780
790

MQ=MO-+X

IF INEEY$="" THEN GOTO 690
IF INEEY$="" THEN GOTQ &93
RETURN

REM BLANE SUBRROUT IME

LOCATE 1,203 FRINT "

RETURN

REM GUNSHOT NOISE SUBROUTINE
SOUND 130,0,35,15,2,0,15
RETURN

REM GAME FINISHED

END



FRACTION CAR CHASE

We might have named this program ‘Duel’ after the film of the
same name as, like the hero of the film, you are being chased by
ajuggernaut driver.

As you turn right, the juggernaut turns right; turn left and it still
follows you.

Coming up in the near distance is an archway. You must escape
through the arch before the lumbering truck rolls over you.

Your only answer is to work out how far across the road the centre
of the arch is. Guess wrongly and you hit the arch damaging your
car. Too many wrong guesses and your car will be immobilised
leaving you the defenceless victim of the fast approaching
juggernaut.
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How to play

The computer will think of a number whose numerator (top half)
and denominator (bottom half) are both less than ten. You must
guess the correct fraction and enter it in using the / symbol (eg 2/3)
and ENTER. If your guess is too big, or small, you will be told. The
guess closest to the correct answer, will be displayed on the arch.
The lower guess will be shown on the left hand pillar and the higher
guess, closest to the correct answer, will be shown on the right
hand pillar.

If your answer is displayed on the arch then you know that you are
almost correct. You have nine lives.

This is more difficult than it sounds, after all do you know which is
the larger, 3/8 or 4/9? You will be amazed at what you find out
about fractions. A hint is that to make a fraction bigger, increase its
numerator (top half) or reduce its denominator (bottom half) or
both. Do the opposite to make a fraction smaller.

fﬁF’rogramming hints

To make the game easier, reduce the range of fractions allowed.
This is done by reducing the tens in line 255. To make it more
difficult you may increase these numbers to maximum values of 99
each.

If you want to allow more guesses, increase the 9 in line 300.

The Prgrgramﬂr )

10 REM FRACTION CAR CHASE

20 REM (C) 1984 6. LUDINSEI

20 DEF FND#(I$,M)=LEFTS{Is,N)

40 DEF FME®$(I$,MN)=MIDS (I%,N)

S0 BORDER 13:MODE 1

6O DEF FMES (M$, N, A)=MIDS (N, N, A)
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70 TF=0

80 FOR L=0 TO 7

Q0 TF=TF* (2"L) *VAL (FNEB% (N$, 8L, 1))

100 NEXT L

130 SYMROL 240,0,0,126, 66,255,255, 255, &6
150 CLS:MX=10:MN=0: A$=CHR$ (240) : ME="0" 1 R
$=ll lI:X$=lI1ll=Z$_~:II "

1460 REM DRAW ARCH

170 REM

190 X=94:FOR Y=94 T0O 218 STEF 2:R=80

200 FLOT X, Y:DRAWR R, O:NMEXT Y

210 X=T46:FOR Y=94 TO =18 STEF 2:R=80
220 FPLOT X, Y:DRAWR R, O:NEXT YV:IF Y=318 7T
HEN GOTO 230

2RO X=174:FOR Y=2534 TO 218 STEF 2:fR=192
240 FLOT X,Y:DRAWR R,O:NMEXT Y:IF Y=318 T
HEN GOTO 230

250 REM THINE OF A FRACTIONM

295 F=INTRND (L) ¥9+1) s G=INT {(RND (1) %9) +1
260 GOSUR 820

270 IF F/G6x1 OR F/G=INT(F/G) OR G/F=INT(
G/7F) THENM GOTO 235

280 IF G<F THEN H=G:0G6=Fz2F=H

290 LOCATE 17,16:FRINT A%

Z00 FOR T=1 TOD 9

310 REM

I20 LOCATE 1,22:FRINT"Guess the fraction
. Use / "

IE0OINFUT Iss IF Is="" THEN GOTO Z30

240 REM CHECE ENTRY

250 FOR I=1 TO =

Z6HO CH=FNE$(I$,I,1)

70 IF I=2 AND C#<="/" THEN GOTO 400

375 IF (I=1 OR I=3) AND (C$<"1" OR CH>"9
)y THEN GOTO 400

380 NEXT I

390 E$=FNDS(I$, 1) :DE=FNE$(I%,2) :60TO 420
400 SOUND 1,100, 3:50UND 1,220,3: 50UND 1,
40, 7:LOCATE 1,22:FRINT"ERROR, WRONG FORM
AT USE ""a/b""":FOR G=1 TO 1000:NEXT QG0
OTa Z20

420 REM

4730 REM DISFLAY FRACTION RBETWEEN ARCH
440 REM

4350 LOCATE 17, 10:FPRINT K$:.0CATE 1&,11:F
RINT® =2 QUATE 17,12:FRINT D%
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460 LOCATE 13, 12FPRINT "Guess "iT
470 IF VAL (K$)=F AND VAL(D$)=E THEM LOCA
TE 11,2:FRINT"That s right":G08UR 790: 60
TO 600
490 REM SET V TO THE VALUE OF THE I$ FRA
CTION
491 II=INSTR(I$,"/"):IF II=0 THEN GOTO =
20
492 XI=VAL(LEFT$(I%$,I1I-1))
495 YI=VALMIDS(I$, II-+1))
495 V=XI/YI
510 IF VEF/6 THEN LOCATE 13, 2:FRINT"Too
amall":F$=Aa%:0%=" ":Us=" "210608UR 790
520 IF VrF/6 THEN LOCATE 1735, 2:PRINT"Too
big  "arPg=" e Od=" Vo Us=A%0 E0SUR 790
SED IR VIMX AND VEF/G THENM MX=\Vao Xd=kds 26
=D&y GEOTO 570
B540 TF VEMN AND VEF/G THEN MM=Vio Mé=kids
=)
550 LLOCATE 9, 122 FRINT M$
560 LOCATE &8, 13:PRINT"~—-"2L0CATE 9, 145F
FIMT BS:GEO0TO &30
570 LOCATE 26, 12:FRINT X%
560 LLOCATE 25, 13 PRINT" ~—-"2 LOCATE 26, 14
fFPRINT Z%
G900 GOTA &30
HOO LOCATE 1,21:PFRINT M

"L LOCATE 1, 22:FRINT"You
escaped -~ Fhew! "2 GOTO 700
HIO INFUT"Another guess (Y/N) "ird
GHEOOTF Re="N" OR FR$="n" THEN GOTO &80
HID MNEXT T
FE

END OF GUESHBES

FaEIM
LOCATE 1,20ePRINTY
" LOCATE 1, 22:FRINT"The Juggern

"

auvt closes in
HFO FRINT"The fraction is "sF§"/"iGs"
700 INFUT"Do vow want more (Y/MN) "ird
710 OIF RS ="M AND R$< =" THEN GOTO 150
R0 60TO 870

A0 END



790
800
INT
810
820
830
840

N F=

830
860
870

93

REM CAR

LOCATE 9, 146:FRINT F&$:LOCATE 17,16:FR
0%: LOCATE 26, 16:FRINT Us$

RETURN

REM REDUCE

FOR I=2 TO 9

IF F/7I=INT{(F/I) AND G/I=INT(G/I) THE
F/1:6=6/1:60T0Q 840

NEXT I

RETURN

END



BAR CHARTER

(.
?I.rlgoqo lod Gls Elec. Phone Car Miso.

This is a versatile program that will enable you to record your
expenses, club accounts or any collections you have. You could
also use the printouts to impress the boss. It is easy to use and
allows a maximum of 32 bars to be drawn. As you key in data you
watch the bar chart grow.

How to use it

First you are asked for the labels of the bars in the bar chart. There
may be any number but all the labels must fit on one display line.
When you have keyed in a line of labels press ENTER once. Then
you use the left and right ARROW keys to move a pointer at the
bottom of the screen. When the pointer (symbol 1 is positioned
under the label you wish to point to, press 7 and the bar above that
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label will increase in height. Press | and the bar will decrease in
height. Press ‘K’ to save the charts as a SCREENS. Press ‘Z’ to
copy the screen via the printer and press ‘H’ to give height of
column marked with arrow. Remember to use Caps. Shift.

The Program

10 REM BAR CHARTER

20 REM (C) 1984 G. LUDINSKI

Z0 REM

40 BORDER 8:MODE 1

S0 DIM Y (E2

60 X=1&6:FOR F=1 TO 19:Y{F)=0:NEXT F

70 REM

80 REM INFUT LABELS

0 REM

100 INFUT"What are the lLabels RERAE:
110 LOCATE 2,21 :FRINT A%

120 LOCATE X+1,28:FPRINT ™"

1320 CLS

140 FOR F=1 TO 20:LOCATE 1,FsFRINT"-"sNE
XT F

150 REM EEY IN DATA

160 REM

170 FOR Q=1 TO Z00:NEXT @

180 Bé&=INEEY$: IF B&="" THEN GOTO 180

190 IF B&$=CHR$ (2432) OR B$=CHR$ (243) THEN
GOSUR Z20:60T0 1350

200 IF RBe<:CHR$ (240) THEN GOTO 230

210 Y(X) =Y (X)+1oIF Y(X)*19 THEN Y (X)=Y (X
)=1:LOCATE 1,22:FRINT"COLUMN TOO HIGH "=
GOTO 150

220 G0SUR 410:60TO 150

220 IF B$<FCHRS (241) THEN GOTO 260

240 YX) =Y OX)-1eIF YAX)<0 THERM Y {(X)=Y {X)

+1:GOTO 150

230 GOSUR 410:6GATO 150

260 REM

270 IF RBE="H" THEN GOSUR 4&0

280 GOTO 150

290 REM
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HOO0
210
220
J30
2490
250
260
BT70
280
B0
400
410
420
4730
440

REM MOVE ARROW

REM

IF B$=CHR$ (242) AND X=1 THEN RETURN

IF B#&=CHR$ (243) AND X=31 THEN RETURN
IF E$=CHR$(242) THEN X=X-1

IF B$=CHR$ (243) THEM X=X+1

LOCATE 1,22:FRINT SFC(E9)

LOCATE X-+1,22:PRINT" ™"

IF INEEY$SX"" THEN GOTO 380

IF INEEY$="" THEN GOTQO 390

RETURN

REM

REM DRAW COLUMM

REM

FOR F=19 TO 20-Y(X) S8TEF -1:LOCATE X

1, Frla FPRINT "a " e NEXT F

450

X1,

440
470
480
490

(A%,

)II

500

FOR F={(19-Y (X)) TO O STEF -1:L0OCATE
Foarla PRINT " "aMEXT FoRETURN

REM

REM GIVE COLUMM HEIGHT

REM

LOCATE 1,28 PRINTYHEIGHT OF ""%iMiDs

X LY e e Y (XY 8" UNMITE kit tvrer

RETURM



WORD SEARCH
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This is a brainteaser you have probably come across in puzzle
magazines, but that doesn’t make it any easier.

The words which are hidden in the screen spaghetti are all four

letter — related to food or drink.

How to p|a§ "

When you have found one of the twenty words on the screen, key
itin and press ENTER.

If your guess is correct your word will be ticked, if wrong it will be
crossed. Your score will be displayed at the top.

To change the screen key in NEXT and press ENTER.
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Programming hints

Two methods are used to reduce the memory required in this
program. First, all the numerical arrays are integer arrays.
Secondly the possible words are stored one after another in a
string, instead of an array.

Another change that you could make is to alter the words that can
be found. There are 57 of them in order to make the puzzles as
random as possible. These words are stored in the variable W$ on
line 70. If you think of other four-letter words to do with food and
drink, then just replace some of the words with those you have
chosen. If you want to put in words on a different subject, then think
of a subject and replace words in W$ with your words all joined
together. Remember there must be 57 of them, and they must all
have four letters.

If you wish to use longer or shorter words, all words must still be of
the same length as each other. Change the words in W$ so the
total number of letters is still the same.

The Program

Lo REM WORD SEARCH

200 REM () 1984 G, LUDINSKT

20 MODE 1

40 DIM L& (24, 18):DIM CH (20, 14)
30 DIM E$(80)iDIM D% (4)

HO DIM g (20)
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70 WE="FISHMEATCAKESOUFFEASSALTCHOFCORNW
INEREERL IMERRANEBEANVEALROLLHAEEF IEEROCKS
FAMMAL TROLLMINTLAMEBFORKEEEFTARTCANENUTST
UNARICESAK IS
AGOLOAFGAMEHERBFEARMILELARDCHIFSTEWOATSF
ATESAGEMACECRABMASHCOLAF I THFEELSOYALEERD
UCEDTLLYOLERALMSUETSODA"

80 Fe=CHRS (240) +SFACES (19)

Q0 REM

100 REM GENMERATE LETTERS

110 REM

120 CLS

130 Ed=8FACES (80)

140 CR=0

150 FOR I=1 TO 14

160 FOR J=1 T0O 20

170 LI, I)=" "

180 CH(J, 1) =CHRE (D)

190 MEXT J

200 NEXT I

210 FOR I=1 TO 20

D20 D=INT RND (L) ®35+1)

DEQ Re=INTRND L) *10+1) 2 IF D=2 THEN R=INT
(RND (1) % 1441)

240 C=INTRNDL)®1é6+1) s IF D=1 THEN C=INT
CRND (1) #20+1)

250 ID=4% TNT (RNMD (1) #57) +1

260 FOR Q=0 TO I-1:IF ID=ASKCMIDS (F4, G+
1)) THEN GOTO 250

270 MEXT @

280 MIDS(F$S, I, 1)=CHRS(ID)

290 DE=MID% (W, ID, 4)

F00 IF D=1 AND L& (C,FO=" " AND L${C,R+1)
=" AND LS (O, FE2) =" " ANMD L (O, ReE) =t o
THEN FOR E=0 TO Zal.$(C,R+ED)=MIDS (DS, K+
2 1) 2 C% (0, R

Y=OHRS (D) o NEXT EaGOTO 240

T10OOIF D=2 AMD LS (C,R)y=" " AND L& (C+1,F)
= OND L (O R = AND LS (O3 ROyt
THEN FOR E=0 TO Zol$ (CHkE, R)=MIDS (D&, K+1
W 1) 8 OF CCHE,

Ye=CHREG (D) o NEXT e GOTO Z40

I20 IF D=3I AND LSO, FRY=" " AND L% {C+1, R+
Ly==" " AND LS (Cr2, Re2) =" " AND L% (C+35, R+
)=t THEN FOR =0 TO Zol$ (Crk, R+ED =MID
S (Db, E+L, 1)
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CHA(CHE ,R+ED) =CHR$ (I) s NEXT K:260TO 3240

330 GOTO 220

340 MIDS(E$, I*4-3,4)=D%

Z50 NEXT I

360 REM

I70 REM DISFLAY LETTERS

380 REM

I90 FOR I=1 TO 14

400 FOR J=1 TO 20

410 IF L#$dJ, D)=" " THEN LOCATE J,I:FRINT
CHR$ (63+INT (RND (1) #26)) 5 : GOTO 4730

420 LOCATE J,IT:FRINT L$(J, 1)

IO ONEXT J

440 NEXT I

450 REM

460 REM CHECE ANSWER

470 REM

480 FOR NM=1 TO 220

490 LOCATE 1,20:FRINT"What food and drin
ko owords can you find"

SO0 PRINT" "sLOCATE 1,218 INFU
T I

S10 LOCATE 1,20:FPRINT"

G20 IF I$="NEXT" THEN GOTO 120

530 FOR M=1 TO 77 STEF 4

G40 IF I$<:MID$ (E4,M,4) THEN GOTO 630
590 LOCATE 24, 11:PRINT"CORRECT": LOCATE 2
G LI FPRINT I4$35:CR=CR+1:LOCATE 24,60 FRINT
"SCORE » "3 CRj

G360 FOR I=1 TO 14

570 FOR J=1 TO 20

S80 IF CH(J, I)=CHR$ ((M+3) /4) THEN LOCATE
Jy TePRINT " "3

S0 NEXT J

HOO MNEXT I

H10 MIDS (Es, M, 4) =" "

H20 BOTO 640

6HE0 NEXT M

640 LOCATE 24, L1:FPRINT"WRONG " LOCATE

AT, 1ZaPRINTY "

HED GOTO 490

6O MEXT N

H70 END



DECISIVE HERO

ldershot
racknell
amberley
orking
ghan
arnhan
uildford
enley

AN W WSN WA
® N VAR WDNO®
N NNPFEOANMNQ

A
8
c
0
E
F
0
H

The wicked Baron has captured your love, Loretta, and tied her to
the railroad track. Only you can save her from a grisly fate, but you
will have to think fast and act even quicker. Wherever the Baron
has taken her, you can be sure it will be in a town far away from
you, and you must work out the three possibilities, key in your
answers and stop the train.

Please act quickly, as the thought of losing Loretta is too terrible to
contemplate.

How to play

The names of eight towns will be displayed on the screen with
letters A to H. Against each of the letters you will be shown a
combination of numbers.



102

You must decide which three series of numbers are the highest,
type them in and stop the train.

Example: from the screen shown above you will see that the
correct answer is ¢, g and b. You don’t have to key in your answers
in alphabetical order, just key them in correctly and quickly. If you
stop the train or, unfortunately for Loretta, the train reaches the
end of the screen, you will be asked if you wish to continue or end
the program.

Press cand ENTER to continue, or e and ENTER to end the game.

Skill rating

When the game ends, a score sheet will be displayed showing
your total, giving a qualitative rating and an 1Q level of your
decisiveness. This is not a true 1Q level as intelligence is made up
of reasoning ability, memory etc. but this result will be an indication
of your 1Q decisiveness level.

Classifications below Fair are omitted, as | know that if you are
using this book you are above average!

Programming hints

If you wish to increase the time allowed to guess the answers then
increase the distance the smoke travels. To do this increase the 3
in line 960 to a maximum of 12.

After thinking about this, you may decide to reduce the distance
travelled by the smoke and thereby decrease your thinking time.
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The Program

10 REM DECISIVE HERO

20 REM (C) 1984 G. LUDINSKI

F0 DIM AS R, X(12) , Y (12) N(Z,8),5(8), T (

&), T(8),W{H0)

6O MODE 1:RBORDER 7

70 Se=5FACES (35)

80 REM

QO REM STORE TOWN NAMES AND TRAIN SHAFE
100 REM

110 GOSUR 1190

120 FOR I=1 TO 8:READ TH(I)sNEXT I

120 A% (1) =" "+STRINGS (2, CHR$ (240)) A% (1)
=AGCL)+AS L)+ "HCHRS (250) +CHRS (25 1) +CHR
& (240)

140 A% (2) =" "+G8TRINGS (2, CHR$ (240) ) 1 A% (D)
=A% (2) +AS (2)+" "HCHRS (240) +CHR$ (24 1) +CHR
& (240)

150 ABE) =" "+STRINGS (X, CHR$ (240) ) +" =" +5
TRINGS (3, CHR$ (240) ) +"="+STRINGS (3, CHR$ (2
40))

160 REM

170 REM STORE FOSITIONS OF SMOKE

180 REM

1920 FOR I=1 TO 2

200 X(I)=12-1

210 YV (I)=2-1

220 MEXT I

230 FOR I=3X TO 12

240 YL(I)=2

250 X(I)=13-1

260 MEXT I

270 TE=QpER=01CR=0

280 REM

2920 REM THE ACTION STARTS HERE

I00 REM

310 CLS

I20 TE=TE+1

330 REM

340 REM STORE LISTS OF NUMBERS AND THEIR
SUM
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250 REM

60 FOR k=1 TO 7:S5 ) =0sNEXT K
A70 FOR J=1 TO 8

380 FOR I=1 TO =

I90 N(I,J)=INT(RND(1)*#%+1)

400 S(I)=5(J)+N{I,J)

410 MEXT I

420 NEXT J

30 FOR I=1 TO 8:TA(I)=IsNEXT I
440 REM

450 REM BUBBLE SORT OF THE SUMS OF EACH

LIST

460 REM

470 FOR J=1 TO 7
480 FOR I=1 TO 7

490 IF S(I)<8(I+1) THEN TF=5(I):8(I1)=5(I
1) s S(I+) =TRPeTR=T(I) s T(I)=T(I+1)aT{I+1)

=TF

500 NEXT I

510 NEXT J

520 REM

530 REM CHECK FOR ANY DUFLICATES
540 REM

550 TWN=3:FOR I=4 TO 8

G960 IF 8(I)=8(1) 0OR S(I)=8(2) 0OR S(I)=

JY O THEN TWh==1

G700 MEXT I

580 REM

S90 REM DISFLAY FROBLEM
HOO FEM

H1D LOCATE 1,7

G20 FRINT STRINGS (29, "=") o FEN 2:FRINT

MRS (2400 3 1 PEN 31 PRINT Vo
&0 LOCATE 1,10

640 FOR J=1 TO 8

650 FRINT LEFT$(S$,6) jLEFTS (TS (J), 1) "
SMIDS (TH(JI),2)5" vy

66O FOR I=1 TO 3

670 FPRINT STR$(N(I,J))5" ";

680 NEXT I

90 FRINT

TO0 NEXT J

710 FRINT

7RO CR1=03 IX=03W (1) =03 W (2) =05 W (3) =0
750 LOCATE 1, 1:GOSUR 840

740 SOUND 1,200,801 SOUND 1,220

J—
w oty

(53]

.
3
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750 FOR H=1 TO 10:Z$=INKEY$:NEXT H

760 LOCATE 1,22:FRINT"Fress "C" to conti
nue or "E7 to end": INFUT C#

770 IF LEFT$(C%,1)="C" OR LEFT$(C$,1)="c
" THEN GOTO 210

780 GOSUR 1050

790 GOTO 14350

800 REM

810 REM SMOKE SUBROUTINE

820 LOCATE X(I)+2,Y(I)+1:FPRINT CHR$ (2432)

830 RETURM

840 REM TRAIN SURROUTINME

850 SOUND 1,180,253 S0UND 1,0,4, 00 50UND 1
L 180,50

860 FOR L=1 TO 20

B70 I$=INEEY%$

880 IF Is="" THEN GOTO 930

80 J=1

QOO IF I4$=CHRS (&4+T (J)) AND 16 :CHR$ (WL
Y4+4H4) AND 16 :CHRS$ (W(2)+64) AND I :CHRS
(WZ)+64) THEN CRI=CR1+1:IX=IX+1:W(IX)=T
(J) s BOUND 1,

1320,20:60TOQ 90

P10 J=J+12IF J<TWN+1 THEN GOTO 200

P20 ER=ER+1

QFT0 IF CR1=Z THEN CR=CR+1:G0T0 1040

240 FEN 1:LOCATE 2,4:FRINT A% (1) LOCATE
2yE0FRINT A% (2) s LOCATE 2, & FRINT A% (3
QHO I=1:FEN O:G0SUR 810

Q60 FOR I=2 TO =

P70 FEN O:GOSUER 810

780 I=I-1:FEN Z:G05UR 8i0

990 I=I+1:FEN QO:GOSUR 810

1000 NEXT I

1010 I=I-1:FEN Z:GO8UE 810

1020 NEXT L.

10350 SOUND 1, 180, 25: SOUND 1,0,4, 03 SOUND
1,180,850

1040 RETURN

1030 REM 10 SUBROUTIME

1060 CLS

1O70 FRINT:FRINT"NMumber of tests complet
ed = "4TE

1080 FRINT:FRINT"Number of tests correct

= "§CR
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1090 FRINT: FRINT"Number of wrong answers
= "FER

1100 SC=INT(((ER*Z) + ((TE~CR)*10)) /TE)

1110 PRINT

1120 IF 8C<5 THEN FRINT"This is classed

as SUFERIOR (upper 10%)":60T0O 1130
1130 IF SC«7 THEN FRINT"This is classed
as GOOD (upper 307)":60TA 1150
1140 TF SC<9 THEN FRINT"This is classed
as FAIR (Upper &607)":60TO0 1150

1180 IF SC=0 THEN IQU=150:6G0T0 1170

1160 TQU=INT(760/8C) 2 IF IQUX150 THEN IGU
=150

1170 FRINT:FRINT"Your I.0. level {(decisi
veness) ="3IGU

1180 RETURN

1190 REM SHAFES SURBROUT INE

1200 RESTORE

EN=2420 GN=%FF s El=%Cs E2=%18

SYMEBOL 250, 0,0, 6N, ON,tJ El.EL,

SYMEOL. 240, El El F] « G, DN QN bN
SYMROL. 251,0, U °F“ °FU L,." =
SYMROL. 241, r, " LZJ' £ 2.. B2, GN, GN, (;H C:l‘

SYMEOL 24:,%7E'bN_bN.GN,bN.bH‘bN_°7

147250 RETURN
1440 DATA "Aldershot ", "Bracknell ","Cam

baerley ", "Dorking "y "Egham "y "Farn
ham " MEwE L dford My "Henleay "

1450 REM END



WHO DUNNIT

2 solved 3 muf*ders

Mr Dull ' My O1d
2

Lager’ M Snow
<«

Looking through the window you see him standing in his study.
Then you hear a gun shot and he falls to the ground. You walk into
the house and go into his study.

There are four men there. You know their names. You find a note
which he must have written before he died. This is a clue to the
murderer. You must decide which of the four men is the murderer
before they slip out the room.

How to pﬂlaym

The victim’s note is by the man lying down. You must work out
which of the names of the other men has some connection with
this word. For example, in the screen shown above, Mr Lager is
the murderer as Lager and Cider are both drinks. Alternatively
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words that are related may have the same or opposite meanings.
For example, Big and Large, also Hot and Cold are related.

Key in the number below the suspected murderer, (3 in this case)
before the four men disappear off the screen.

If you are right, you hear police sirens as the police cars approach.
If you are wrong or too late, you do not. The score is given on the
top line. Press ENTER to play again.

Programming hints

If you want to add more words to the game, add some more DATA
statements at the end of the program. Put in sets of three words
that are related. Read the other words in lines 740 to 760 for ideas.
Make sure that each set is not related to the other words in those
lines. When you have added the extra words, count up the total
number of sets of words from line 740 and assignitto TT in line
310.

~ The Program

10 REM WHODUNNIT

20 REM (C) 1984 G. LUDINSKI

=0 MODE 1

5 RORDER 7

40 DIM WH (30, 3) N5 . X(4),Y(4) ,F$(2),08
)

50 X (1) =0:Y (1) =7 X (D) =10 Y(2)=7: X (Z)=0zY
(M) =143 X () =101Y (4) =14

60 SC=03 TU=0

70 GOTO 200

180 REM SHAFES OF MEN

190 REM

200 REM

210 SYMROL 240, %10, %38, %38, %10, %70, %7C, &
70, %70

220 SYMEROL 241, %7C,%7C, %38, %38, %38, %38, &

=8, %58



109

230 SYMEBOL 242,0,0,0,0,%F, &5F, 4FF, &FF
240 SYMROL 24F,0,0,0,0, %01, &FF, %FF, &FF
250 V$=CHR$ (242) +CHR$ (2432)

260 BL=0:RD=1:YE=21WH=2

265 INE BL,Os INE RD,&: INE YE, 120 ITNE WH, 2
6

270 FAFER BlsFEN WH

280 REM

290 REM READ WORDS

Z00 RESTORE

208 REM

21O TT=25

18 FOR J=1 TO TT

A20 READ TH:WE (I, 1) =TS READ THoW$ (I, 2) =T
SrREAD THaWH (I, 3)=T%

IO NEXT J

260 REM

270 REM UFRIGHT MAN AND GUN SHOT

280 REM

3290 CLS:FAFER BlLL:FEN WH: LOCATE 1,21:FRIN
T CHRS® (240) s FRINT CHRS (241) %

410 REM

420 FOR I=1 TO 4

A4Z0 NOI)=INTRND (L)Y %#TT+1)

440 MNEXT I

450 TF N =N2) OFR NOLY=N{E)Y OR NOL) =R
4y OR NO2)=N(Z) OR NZ2)Y=N{4) 0OR NCE) =N (4
) THEN GQTQO 290

460 FREM

470 REM DRAW FEOFLE AND NAMES

480 REM

490 TU=TU+1

SO0 GN=INT (RND (1) %4) +1

S10 FOR I=1 TO 2

G20 FPS D) =WE (N (2%T) 1) , INT(RND (1) %#Z)+1)
SRS (T)=Ws (M(2%D) , INTRNMD (1) ®E+1) )

SE0 PEN WHe LOCATE 1, 7%#I+L:PRINT CHRS (240
Vi LOCATE 1, 7%#I+2:FPRINT CHR$ (241) 5 s FEN Y
EsFPRINT™ Mr "iF$(I) 3 :FEN WH: LOCATE 11,7%
I+1:PRINT CH

R (240) 1 LOCATE 11, 7#I+2:FRINT CHR® (241) 3
s FEN YE:FRINT " Mre "iQ& (1)

540 LOCATE 1, 7#I1+4:FPRINT 2% I-1:LOCATE 11
W 7ETH4 0 PRINT 2%1

S0 NEXT I
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560 ZH=WE (N{SN) , INTIRND (1) #3+1) )2 IF Zé=f
$(1) OR Z$=P$(2) OR Z$=0%(1) OR Z$=0% (3
THEN GOTO D460

57’(:) Ust;:ll 1" _FZ$+|I 1

580 LOCATE 1,22:FPRINT" "3

390 FEM WH:LOCATE 1. 21:FRINT V$:FAFER WH
:FPEN WH:LOCATE 11,20:FRINT U$sFEN RD:LO
CATE 11,21:PRINT Ui FEN WH: LOCATE 11,22
s FRINT WUs: A

FER BL

HDD) k=

G100 F=0

H1L ITHE=INKEYS:IF I$x="1" AND I$<="4" THE

M GOTO &20

12 F=F+1:IF F«<:B0 THENM GOTO &11

A1E LOCATE XD +1, Y (ED) +L e PRINT" "3 LOCATE
KDY +1, YAED +2: FRINT " "3

G618 =R+l I4="0"s IF E<S THEN GOTO 610

&H20 REM

630 REM FOLICE SIREN

H40 REM

HI0 IF VAL (IS) =8N THEN FOR E=1 TO 4:50UN

D 1.80,50:80UND 1, 100,30:MEXT F:SC=8C+1

&HGD REM

670 REM SCORE

&HB0 REM

H6GOFEN WHr LOCATE Ly 2o FPRINT SC8 " SOLVED
ETUS s IF O TURL THEN FRINT" MURDERS" 2 GOTO

70

HFE PRINTY MURDER"

700 FEN WH: LOCATE L1, Z:PRINT"FRESS <TENTER
oT0 CONTIMNMUE": INFUT R$:GOTO 290

710 REM

720 REM DATA

7EO REM

740 DATA RIG, SMALL, LARGE , FAT, THIM, FLUMF,

GUIET, LOUD,NQISY, WET, DRY, DAMF

790 DATA HOT, COLD, WARM, &, Z, ALFHA, GOAD, BA

D, NICE,MAD,CRAZY, SANE, DULLL., 8SHINY,MATT, SE
E.HEAR, FEEL , QLD , YOURNG, AGED

755 DATA LAUGH, CRY, WEEF, KID, CHILD, ADULT,
AM, FM, NMOOM, BIRD, FOWL, BEAST, SNOW, ICE, SLEE
T, ILFP Lﬁfrk CIDER

760 DATA LINB,OULEH,JQCH,GIVE,TQHE,GHQSP
FBEC,ITU,CH4,ILL,NFII.“TPF GYM, FT, FE, RED

« AFBER, GREEN, LOAD, SAVE , RURN, EYE, T, AYE




CLOSE ENCOUNTERS
OF THE FOURTH KIND

+

(AN DA S AARANAY, St

The aliens have sneaked into this book after all — but we believe
they are friendly. It's up to you to find out.

Hovering above a field, lights rotating around it's outer edge, is a
flying saucer. From the saucer comes a sequence of notes which
may contain a message of peace. To find out you must repeat the
notes in the same sequence as the aliens have transmitted them.

Every time you repeat the notes properly, the saucer will descend
one level towards the ground. Try and bring them in carefully as
the last time we succeeded the space vessel blew up after landing.
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How to play

The number keys 0 to 9 represent a note in the octave starting with
middle C.

Key in S to indicate the start of a tune.

You can either try guessing by starting with S or you can play with
the keyboard until you have found the correct note.

The saucer will first emit one note and, if you copy correctly,
descends slightly before sounding its next tone which will be a
tune of two notes and so on. Each time you have guessed the
sequence correctly the saucer will descend. Remember to start
each guess with S.

If you can’t find the correct note press G and ENTER and a new
tune sequence will begin.

Programming hints

You could increase the number of possible notes in the tunes by
changing the maximum value of N(L) in line 250. Then add lines for
larger values of NT after line 800

The Program

1O REM CLOSE EMOOUNTERS OF THE FOURTH kI
NI

= LGHT SO 19RE G LUDINSET
HOODEFINT A-Z
40 MODE O
Clo=1

DI MO7D
[
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100 REM DRAW SFACE SHIF AND GROUND
110 REM
1E0 INE 2,9
1AD HT=3520
140 Cle=15: GOSUE 520
150 FEN 2
L&D MAOVE O, 0
L70 FOR X=0 TO &40 STEF 5
180 DRAW X, RND 1) %353
190 NEXT X
200 REM
210 REM GENERATE NOTES
R0 REM
2 FOR J=1 TQ 7
FOR Le==1 TO J
ML) =TNT (8%RND (1) +1)
ITF L=1 THEN GOT(O 280
IF N =N{L~-1) THEN GOTO 250
NT=N (L) » GOSUR 720
MEEXT L.
REM
REM FLAY NOTES
REM
=)
T=140
FOR F=1 TO J
ITd=INKEYS$: IF I$C:"GE" AND I$H<:-"S" AND
(T="" OR I$<"1" OR ITH:"9") THEN Is=I+320
GOSUR 60 GOTO 260
ETOOTF I="0E" THEN E=J:GOTO 410
HG0 TR Td="5" THEN K=1:G0TO 260
NT=VAL (T4 2 GOSUER 720
TFONVAL OIS =N R THER B
410 MEXT K
G20 T TH="GE" THERN GOTO 240
TFEF=0 THEM Cl=0:GOEUE 5208 HT=HT 40
L= GOSUR 520 GOSUR 8720:GOTO 450
GOTO EED
MEXT J
M
FEt EXFLOSTOM
M
ERND
FOF T==10 TO L0 TRED O, 1e TNED O, e NEXT
e EOTO 860
S0 REM
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REM SHIFP DRAWING

Azl BT -4 C=EEE D= 12 GO5UR 400
MOMVE
2 DRAW 14T, HT-200DRAW 1467, HT+20 DRAW
W b lT

g
s £ o

0 HT+320
D3 GOSUR &00

B DRGWING LOUT TINE
AnEs TO A+ STER SERNC) »2
) H(']' ’L ATAIN

VED D DRAWR O, Dy, CL.

SHAT NEXT @6

HEO RETURMN

&&HD REM LIGHTS SUBROUTITNE

HF0 O TF T 2EZ0 THEM T=70

(21

HED Clos=RND CL) %80 Q=1 o Bk T—&n C=1d s D=1 30 GOS

ll L( \-.\ (.J ")
&)
T

FEM LAY SUBROUTINME

ITFONT=1 THEN SCOUND 'l 473, ""l )
4 D&, P} 0
,./9

ITFONT=2 THEN SOUND
IF ONT=3 THEN SOUND
IF NT=4 THENM SOUND
IF NT=3 THENM SOUND
ITF NT=& THEN SOUND
IF NT=7 THEN SOUND
ITF NT=8 THERN SOLIND
D FETURRM

FEM ROTATE SUBRRCOUTTNE

Eo Te=laB0n GOBUER &&600 NEXT

0



3D BRAINSTORM

[ |,|| ul ||Ill|l:

If you feel like some brainstorming, how about this three-
dimensional game for two players. It is like three-dimensional
noughts and crosses, except it has the advantage that all faces
can be seen at a glance.

Nine cubes are displayed on the screen and each face of each
cube is divided into nine squares. Your aim is to colour in a row or
column of squares of any face of a cube, or to have a row or
column of cubes in which you have coloured in the same square.
For example, in the screen shown above, the red player has
coloured in a row of squares on the top left hand cube. Also the
yellow player has coloured in all the top left-hand squares on the
faces on the front of the central cubes, so he has both a row and
column of squares coloured in.
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How to play

Players should take turns to colour in a square. The first player will
colour inred, and the second in yellow. Squares are coloured in by
moving the cursor (flashing underline symbol) to point to the
correct square using the arrow keys.

If the square is on the front or top face of a cube, it is pointed to by
putting the cursor under the square. If it is on the side of a cube it
is pointed to by putting the cursor in the centre of the square. When
the correct square has been selected, the space bar must be
pressed and the appropriate square will be coloured in.

The score is shown at the bottom of the screen. The colour of the
square between the titles indicates whose turn it is to play.

If you complete a row or column the computer makes an arcade-
like warbling sound. If you try to colour in a square that does not
exist a low constant note sounds.

Programming hints

The logic for a game like this is more complicated than you would
expect because of the number of possible moves. The program is
made more comprehensible and the program length reduced by
using functions. These functions however, do not deal with
numbers but with logical operators. For example, in line 170 FNX
will be true if XX is less than 0 or greater than 20. This is a check
that regularly has to be done to see if the X-coordinate of the object
would fit on the screen.

You could make this into a one player game by allowing the
computer to make random guesses. You would do this by putting
IF T=-1THEN in front of line 550. You may also add the extra line
IF T=THEN PS = RND(21)-1 : VP = RND(24)
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The Program

1O REM ZD BRATNSTORM

20 REM COPYRIGHT (C) 198% 6. LUDINSKI

S0 MODE 1

40 DEFINT A-Z

SO DIM L (20,240  MO20,24) ,80(2) JR {6,

GO REM

70 REM LOGICAL FUNCTION DEFINITIONS

80 REM

90 DEF FNLL (D)= (FS=0+1 OR FS=1+1 OR FS=R
+1OR PE=7-+1 OR FS=E+1 0R FE=9+1 R FS:=)
4+ OR PE=15+1 OR F&S=1&+1)

100 DEF FNL2OD) = (VP=7+1 OR YP=g+1 (R YP=
+1 OR VP=14-+1 0OFR UF=15+1 0OR VF=1é6+1 OR
\’f"‘““f.?.] + I OF VF=22+1T 0R VP=23E1)

ZFOFNLY R Ty s (Fe=T 0 OFR P07 OF Fra] ]

FAMLF L T == (F FND W
l l\ CERILL (0 @Al P
= OCF ML T BIND (N
OFC CFMLL LY ARD
LG G OFRIL L O3 D
QR Ve

&)
15D DEF P

e (FRLLT U E G CF R OV, 10y 0
B OFML7 (&, O AND (FML7 OV, 4 OF FNLT (VP
W) ) OFRFNL7 (RS, 1) AND FRILZIVF,. 40 ) OR
(&0 R PE:
20 0OR VP4 OR WP R240)
160 DEF FNEZ= ( COFNML7 (FS, 5 OR FML7 (RS, 4)
OFC FNLZ P&, S AND FNL7 (VF, ) QR OFML.
ARG, 4 0RO FNLT RS, S AND FNL7 (V800 O
F
TOAND
‘ 7.) I”"i.

DO RO
s MEXT T
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210 REM

220 REM SHAFE DEFIMITIONS

BEO REM

240 SYMEOL 240, %1, %2, %4, %8, %10, %20, 240, %
FF

250 SYMROL 241,1,2.4,.8,16,32,64,128

260 SYMROL 242, %FF,.0,0,0,0,0,0,0

270 SYMROL 243,281, 282, 484, &88, &90, A0, &
Co, %80

280 SYMROL. 244, 280, 280, 280, &80, 80, &80, &
80, &80

290 SYMRBOL 24%, &FF, 281, %81, %81, %81, %81, %
81, 8FF

I00 SYMEOL 246, %1, %3, %5, %9, %11, %21, 841, %
ail

10 SYMEROL 247, %82, L4873, 485, 489, 91, &A1, %
Cl.u81

IR0 SYMEBOL 248, &FF, &FE, &FC, &F8, &FO0, &EQ, &
O, 280

33@ SYMEQL. 249, &1, 85, &7, &F, RLF, &3F, &7F, %
FZ‘ |ZI:'

T40 SYMROL, 250, &FF, &FF, &FF, &FF, &FF, &FF, &
FF,&FF

EE0 Le=CHRS (2400 1 DE=CHRS (24 1) o TH=CHRS (24

)
S60 DUS=CMRS (248) s VUS=0MRS (247) 1 D1 d=CHR S
(248) 2 DR%=CHRS (249) 1 Fa=CHRS (250)

aMOT, I =0 NEXT TaMEXT I
S80 Blo=0rRD=20 WH=1 1 YE=2
F00INED Bl O TMED WH, 250 TNE YE, 12 TN RD,
&

400 REM

410 REM DRAW CURES

420 REM

470 PAFER Bls FEN WH:CLS

440 FOR YO=3 TO 17 STER 7

450 FOR XO=0 TO 14 STER 7

460 GOSLR 840

470 MEXT X0

480 NEXT YO

490 LOCATE 4,2 CX=dy OY=3

S0 Tl w 8O0y =00 SO (2 =0

10 REM

mE0 REM MaTH CYCLE




119

Hoa L T THEN GOTO S5O
THER GOTO 700

THEN DYss--1
THEN DY

THEM DX
THEN DX=1

THEN GOTO S50

S50
GOOTF
& l O IF

COTHERM SOURD 1,50, 200 G0

ARES P OFSVFY T =1 THEN SOUNMD 1, B0, 3
o EEO

FED T“~":IF Te=--1 THER FERN RD ELBE FEMN VE
740 TF FNF O THEN C#= "FUbHM FEROXGEOTO 770
FEDOIFOFNMT O OTHEN P GOSUR Q3RO PS=Fe]
=D GOBUR 93 3 1 GOTO 770

FéD Ch=D2%: GOSUR 9300 VP=VP+1ls Ch=D1%: GOBU
FAOWNP=VR- 1 GOTO 770

/*)ll &, 'W ) ”F:F
T C;[J\.)UU
1““PPTNT

A2 LOCATE 25,

A FRINT "Reds o FERN
"Yellow"

s FRCTRT S0 (0 § o FPERM
: FF1 Ih H SC L2

Oas LOCeTE

DL

870 LODATE XL, ¥
e VU

880 l OUATE X0+, ¥Oods PFRINT Leslesl sy Desy
EERVINE:

o PRIMTY "H L LS LEs D
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890 LOCATE XO+1,YO+35aPRINT 8855465565 VEY
Ha Vb

GO0 LOCATE XO+1, YO+rbHe FRINT S$; 0% 555 VERV
%

P10 LOCATE XO+1,YO+7 0 FRINT S$:5%: 885 VE;
G20 RETURN

GEO REM FUT SURROUTINE

P40 FRINT CHRS (22) t CHR$ (1) 3

FEOIF LAPS, VR =0 THEN FAFER B ELSE FAF
ERLe (L PSS, VR +10 /2

G&H0 LOCATE FS+1, VF+-1e FRINT C$y

Q7GTF L PSS, VFY =0 THEN L. (F&, VR =T

280 FAFER L

GO0 FRINT CHRES G220 8 CHRS (O3

FE T LR

REM TEST SUBROUT TNE

FOR J=4 TO &

0O GOSUE 12002 G08UR 1240

:wdu MEXT J

LOS0TF ONOT FNFTHERN GOTO 1090

160 FOR J=1 T0O X

1070 GOSUER 12003 G0SUR 1240

1OEG NEXT J

Lo TF MOT
LRG0 FOR T
lIl“

FNT THERN GOTO 1140
!U A

COOR FNT R FNE OF FRNER THEN &
ll?ﬁ

FOm Jes
bU&HP ;

RETURN

13 REM CHECEX SURROUTINE

1210 ITF FNX PSRRI, 1Y) OFR FNXIPS-RGT, 2 )
THEM GOTO 18350
LEZOOTF M
ARD M CF

w 1y VP MRS RRGT, DY VD
*’f yeT THEN $J(L ( TH-1) =50

SUBROLT TRE
0T, 1)) OFR FNY (VPR GT, 200
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LR&O TF MR
AND MG, W
LIE 18
LI

CHECE XY

1290 TF
OF FNY (P
MOGOTO
LEOO TF MG RO, 1,

¥ AND M

LIFN

FEM S SOURND SURROUT TME
. 2 GOUND 1, 100, 55
1340 RETURN



DETECTIVE

:-cpn?ltl.'-‘w

Could you solve the cases and survive the perils of being a
detective. Find out by playing this game.

Firstly, you are briefed on the correct number-plates for the cars
and trucks you are likely to see. Then you are stationed near a
main road, watching cars and lorries travel past.

You are looking for a stolen vehicle whose plates have been
changed. When you see a car or lorry you suspect, you must call
up, by radio, the two squad cars in the area, and tell them to set up
a road-block.

If you time it right, the suspected vehicle, which veers off the road
when it sees you are interested, will be caught. If your suspected
vehicle was stolen and you catch it, the driver comes quietly and
your score increases. If however, you catch a vehicle which has
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not been stolen, the driver dresses you down, and your score
decreases. If you do not catch the suspected vehicle, then you are
told whether your suspicions were correct but your score is
unchanged.

How to play

Press C when you have read which cars and lorries have which
number plates. Then you see cars and lorries travel by with the
number plates they have attached to them displayed below the
road. When you see a vehicle which you suspect has the wrong
number plate, then press A to get the white car at the top of the
screen to set up a road block, or Z to have the other white car set
up atrap. You may do this continuously, by trying to set up the road
block just as the suspected vehicle passes by.

If you catch the vehicle you will hear police-car sirens as the other
squad cars approach. Then you are told the result. Press the
ENTER key to play again.

Programming hints

The cars and lorries are made up of two user-defined characters
next to each other. They are animated, or made to travel along the
road, in line 360. They are animated by PRINTing them in
successive positions along the road, preceded by a space to erase
the back half of the previously-drawn vehicle.

You can make the game more difficult by making the vehicles
whizz past faster. To do this reduce the value of Kin line 310.
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The Program

10 REM DETECTIVE

20 REM COFYRIGHT (C) 1985 G. LUDINSKI
0 MODE 1

40 DIM VE (&) ,Cl&) ,FE(b) , UMS (&)

5O E=1728: Bl=0: RD=2: BR=2: WH= 1 =0

6O INE RD, 123 INE GR. 15 TNKE WH, 25

70 GOTO 110

80 REM

S0 REM CAR AND LORRY SHAFES

100 REM

110 SYMEOL 240, 15,8, 8, 255,
120 GYMEOL. mdl,ﬁﬂu_lm,lé";
b

1Z0 SYMEOL 247, 192, %F8, 408, 20F , &FF, FF, &
FF, %CE

140 SYMROL. 247, 8FF, LFF, 2FF, 4FF , WFF, 4FF, &
IT'.Z' ' " ,,';"'l

1EO CAS=CHRS (2400 +0HRS (24 1) 5 LOS=CHRS (247
Y HCHRS (2450

1AH0 OOl =WHe FS (1) =" "eCAS: C (D) =RD: Fd (2) =
"ONECA: OO =0RFS (D) = e OAS

170 FOR T=1 TO ZeCCI+2)=C{I)sFs(L+E)=" "
ALOB NEXT 1

180 GOSUER HOO0

150 REM

!"' EP‘I DRAEW FLELDS, RO&D, FOLTCE CAaRS

. ) Lx 0% U I..\
SHD FPAFER Cn L 8eFRINT Civs
s LOCATE 1, 150 PRINT CA%:FEN BL:LOCATE 1,2

FINT CAas:LOCATE 11,242 FPRINT "Score "3

270 FPEN WH: LOCATE 1,250 FPRINT"Call up cer
s A oar I

280 REM

290 REM LET CARS TRAVEL ALONG ROAD

E0O0 REM
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10 PEN BLaE=20

F20 J=INT (RMD (1) #&+1)

AE0 FOR I=0 TO 17

240 IF I=0 THEN FEN C{I) :FAFER Z-C0J) 010
CATE T+1,22:FRINT F& (1) 1 FAFER BLsFEN WH:
LOCATE 723 :FPRINT YHMS (D) o FOR D=1 TO 5000
s NMEXT D

fSﬂ FEN CGI)

-o” ITd=TNEEYS: IF Id="" THEN LOUATE I+1,2
..... FRINT P& () 2 GOTOQ 290

.3- FOOIF IE=UHY O OTHENM GOSUR &HOO0:GOTO 220
A@0 G60TA 4320

E90 FOR D=1 TO E:MEXT D
400 NEXT T:FEN BL:LOCATE 18,22 PRINTY

FEN W GOTO 220

GOSUR 790

FEM

REM FIMAL MESSAGE AND FOLICE STREN
FEM
FE B
470 TF ERN=1 AND  (VRN$s=YME (0 OR ”Nwm”Mﬁ i
) THENM SC=8C+1s LOCATE 1, ®5eFRINT [£°

a tair cop,guv. " GOTO 510

480 TF EM=1 THENM LOCATE 1, 8S:PRINTI" 11
SLE YOL, yol maughty policeman tB50=50~1 6
QT S1o

490 TF VMNS=VMS (80 0RO VRMS=YHMS (RED THER L0
CATE 1, 250 PRINT "Stolen car has gone's G0
T S10

OO OLOCATE L, 2% sFRINMTYChasing weong car

"

510 REM
0 FOR I=1

TO 40 S0UNMD 1, 109, 500 50UND 1,

woian FRINT"Fress SRETURM:> i
OO 180

LB RO TME

BTN RS S E I

b DA lJ ! *.l

s GG
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HZD NVE (D) =0HRS (HEHTNT RND (L) #2852 +OHRE 04
ESaTMTORMD (1) #2460 ) +CHRS (S5 TNT (RND (1) #28&)
YAHUHRS (484 TNT (RND (1) %100 ) +CHRS (48 TNT (FiN
DLy *10))+CH

Fo (48+-TNT (RND LY %10 ) +OMHFES (HEHTNT (RND (1)
wEhHY )

&40y NEXT I

HE0 FOR I=1 TO & STEF 2

OHED FPEN COD) s LOCATE 4, L l+d4xIRT(I-1) /720
FRINT F$dD)saPEN COI+0) 2 LOCATE 13, 11+4x]
MTC{TI-1) 72 0 PRINT P& (I+1)

G700 FPEN COD) o FRINTyFRINTY "AVE (TR "
sFEN COI+1Y s FPRINT YSOI41) s FRINT

GED NEXT T

LD FPEN WHr LOCATE L, 280 PRINT"Fress "7 L
@ continue"

T RES=INEEYS$s IF REg="" THEM GOTO 700
710 RETURN

720 REM MIX-up SUBROUTINE

TEQ A=INT ORND (1) #&6+1) s BE=TNT (RND (1) #é&+1)
IF BR=A THEN GOTO 730

740 FOR I=1 TO &

FEO OMME (T ) =VE )

MEXT I

Wk =Y ME (A o VS (A =YME CEED o VIS CRED sWE

FED RETURM
7ROOREM CHASE SURROUTIME
800 FAFER BL:LOCATE L, 28 PRINT"

810 PAFER GR

820 Cle=C I s VTH=RIGHTS (8 (J), 2) 0 VNSG=VMS
W

B0 K=Re V=19 G0=00 X l=Xa Y=Yy EN=D

B840 FEM WHLOCATE 1, 8:PFRINT CAs

SE0 LOCATE L, 1S PRINT O
Tdh=TREEYS

TF Té="a" THEMN L=7:605UR
ITF T&="Z" THEN L=14:G0GL Slaly
ITF EM=1 THEN GATO 990 A
FEN CLyLOCATE X-+1,Y-+LaPRINT VT%:
LOUATE X131, YI+1laFRINT ™ "y
Vi1s=Ya X=X

T TNEEY S

TF D=t THEM L=73G05UER 1000
TF Tt @ THEM L=143G08UR 1000




FaHO A=X+le IF X188 THERN X=2
G0 Y=Y INT 2R INTRMD (L +13 ) IF YO

Ci--ds TF GOS0 THEM GOTO 8460
CTUIFRN
M ROAD SUBROUTITRNE

(LT
100
1010
1020 FOR D=1 TO 100:NEXT D

1OE0 LAOCATE 1,L+1:FRINT Chss"

1"

1040 IF Y=L THEN EN=1
1050 RETURN
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THERN

N WM LOCATE L,y L1 e FRINT CAgs e



CONCENTRATION TEST

1 2
123ﬂ567899123&55789@123ﬂ5678

A
B
C
D
E
F
G
H
I
J
K

RUHIQT[EROQD>

KEY IN ROW/COL , ROW/COL

This time we have given a little longer to work out your answers,
because we think you'll need all the brainpower at your command.

On the screen will be displayed 18 rows of 35 numbers and you
have ‘eight’ minutes to find as many pairs of adjacent numbers,
whose sum is 10, as possible.

These pairs must be in the same row.

How to play

When you have found the matching pairs, key in the row number
followed by the column number of each, and then press ENTER
Example A3, A4. Always place a comma between each entry. If
your pair of numbers is correct they will be displayed in the same
colour on the screen.
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You may key in the pairs in any order and, if you cannot find any
‘missing’ pairs before your time is up, type in NO, MORE followed
by ENTER. Again, there must be a comma between the words.

This ending of the game will cause your score sheet to be
displayed. If you fail to complete in the alloted time the score sheet
will automatically appear.

Your score sheet will give a classification and an IQ rating on your
powers of concentration.

Programming hints

Lines 100-230 draw out the matrix of numbers and the row and
column labels. Note that the letters are displayed in a loop by
referring to their ASCII values. As the letter A has ASCII value of
65, B has a value of 66 etc so CHR$(64+J) where J is 1,2,3 etc.
will display the letters A,B,C etc.

| would not advise any alterations as the scoring and I1Q levels
were determined by scientific testing, and any changes would
make the scores and IQ level incorrect.

The Program

10 REM CONCENTRATION TEST

20 REM COPYRIGHT (C) 1985 G, LUDINSKT
50 REM

40 MODE 1

50 DIM A% (S, 18)

60 CLS

70 NU=O

B0 TT=TIME

G0 ERs=

100 R
110 REM DRAW MATRIX

120 REM

130 PRINT

140 FRINT" 1 2

1]
-t
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150 FRINT" 1234353678901 5345678901 23454678
())( ) 1 "\"" I_IL"‘ "

160 FOR J=1 TO 18

170 FRINT:FRINT CHR$ (&4-+3) 4" "3

180 FOR I=1l TOQ X35

190 AS(T, ) =RIGHTH (STRS (INT (RND (1) %10) ),

FRINT As(0,J)s

MEXT T

FRINMT" "iCHRS (H4+T) 4

NEXT J

FE

FEM QUEST TORN

FEM

LOCATE. A FRINT" Type row col. oomm
a rrow ol oso XeYs10oo "y

280 PRINT " lOCAT
Bl 24

EH0 0 LTME 1 MEUT C#a TF C="" THEN GOTO 270
" " " " )

GOTEY 290

I)‘is M [1)‘5» COS, GE 1) o TF Dd="" THEM GOTO

Co=LEFTS (06, Q010 o TF Od="" THEN GOTO
}
FRE
L CHEDE TRFLT
B

TT-TIME 48000 THEN GOTO &
CCHsCNOT AND DésUMORE" THEN GOTO S

SEORLEMODSY 2 THEN GOSUE

. (L, 1)) ~64

410 T=VAL (MIDS (CH, 2, LEN (08) ~1))

420 K=ASC (LEFTS (DF, 1)) 64

4730 L=VAL (MIDS (DS, 2, LEN (D$) ~1))

440 TF T<1 OR 1335 OR J<1 OR Jx18 OR L1

OF L35 OF K<L OR K>18 THEN GOSUB 750:06

070 290

450

A40

Qi

470 TF WAL (A% (1, J)) +VAL (A% (L, k) ) <310 THE
SOSUE 7508 BOTO 290

1aFEN 0:LOCATE I+2,J+4: PRINT A

TI IF"'N GOSUR FEOGEATO 290
=Lyl THER GOSUR 73026070 2

480
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%tl.J\'"IU(ﬁlF oty Bedw FPRINT A (L g A
FEF OuFER L

450 NU MU+ 1

LOCATE L, @85 PRINTY "y CHERE
P OHFRE CLL s CHRS CLLY s 2 GOTO 270

HCORE HHEET

|4t) (I ’>"f FEINT e FRINT FRINT"Youw found "sNU
P opairs!

SHE0 MX =D

SaH0OFOR J=1 TO 18

S0 FOR T=1 TO A4

SEOCTF VAL AT I Y eVAL (AS (ITeL, J) ) s=10 TH
BN MR =M

S0 MEXT T

&0 NLXI J

CERITY Y oo wmeorme ds Uy EOORE s FR
FAIRR R RS TSN

FECIRT Y o are o
e LOYY T GOTO HBO0
NOFRINT"Youw are o
20 U GOTO &EO
sl N IHIN FRINT"You are o
B F\lb Cupper SHOW e GOTO H80
CIRT s FRINT"Youwe  T0 level {(concentra

L0 TF
L assec

&7 | f

i) = MR TG
WD FRINMT s FRIMNT" Do vow want more (YR

"

sy

AN T 0N THER FRINT CH

THER EOT &0

.ﬂl“!!tur"lype Py o)

EEN S H

LI

BN Jl T Goacbyye "

v 1Y



WHAT’S YOURS

WHAT 15 YOUR ORDER

Do you know that awful feeling when you have been put in charge
of the drinks purchase at your friend’s wedding?

You can be sure that you will get a soft drink for the big fellow in the
corner or, even worse, a double whisky with pint chaser for
someone’s grandmother.

Anyway, it’s your turn to buy the drinks and the order is on the bar.
If you remember to get everyone the correct drink you will receive
a whisky from each of them as they will be so pleased with your
effort. If you get the total round correct, they will all pitch in and pay
for the drinks themselves.

All the drinks are £1 each, so everytime you get the round right you
make £1 per drink for yourself.
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Oh, we almost forgot, everytime you get it right someone else joins
your circle of friends.

How to play

Five different types of drinks can be ordered as follows:-

Beer Red Mug B
Lager YelowMug L
Red Wine Red Glass R

White Wine  WhiteGlass W
Whisky YellowGlass —

Look at the order detail on the bar and key in your copy. As you key
in your order, the drinks will appear on the screen. When you finish
the first round, a second will appear in a different order and, if the
last round was correct, an additional member will be added to your

group.

When the drink runs out, you can go home — by taxi.

Programming hints

This program is a good example of the use of user-defined
graphics. Just two shapes are defined, a glass and a mug shape,
but as they are displayed in many different colours there appears
to be a large number of shapes. Remember to use PEN for user-
defined graphics, as they are handled in the same way as text.

The Program

Teovyours Y
CIEHT (DY 198% 6. LUDINSET
40 TME 1, Tée TRED E, 25 THE 2, 12

SO ODIM WEOG)
&HO O REM
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70 REM DEFITHE GLASS AND EBEER MUG SHAFES
80 REM
S0 SYMEOL 240, 83E, &0, B2E, 210, %8, 48, %8, %
EE
100 SYMEOL 241, 878, 878, L7E, &70, 270, %78, %
TE, 478
110 MES=CHRS (2410 s GlgE=CHRS (2400
120 REM
1730 REM DRAW BAR AND NOTE FADS
140 REM
180 CLS
160 Cla=l s X=00 Y 2GO s W=HEP s H= 1200 GOSUR &0D0
170 FL -.X Da W] 27 v H=1400 GOSUR 00
180 ”33Hm14O:GDHUB &HiDD
2 D, 208 FRINT "R
S N

o

I[I:‘T lr\l’ 10 e=id
TF WDy =1 THE
IF Wil H—H I Gl
ITF Wl THER Cl.
FEN CLeLOCATE T,8:FRIN
FT H\H” ]

‘ C’ts...l_ OCATE T

"t

OFCIMES BOUGHT

i F"()F\ = T T

400 T TNEEY S TF ITdE=0" THEN GOTO 400
410 TF E=1 THERM LOCATE 1, 8:FPRINT STRINGS
:"2,', oy 3

Aoy TR TE0 R AND T =10 AND T "R A
RO T =W THEN GOTO 'U..H.)
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L300 IF Td="R" THEN FEN 1:L0OCATE
T Glds IF=0

440 IF TH="W" THEN FEN Z:LOCATE
T Gl IF
A0 TF
T MG TF=1
460 TF T4

-

T, Br FRIN

<, Br FRIN

THERN FERMN 12 LOCATE

o, B FRIN

LY THERN FEN 2 LOCATE

—_

L Ba FRIN

T MG TF=
470 TF TF=W D) THEN FEN 20 LO0CATE K, 1o FR
INT Gl$s o M=M+1aGOTO 490

480 EF==l

490 FEN O FAFER LrLOCATE 12, 220 FPRINT OWs
LOCATE 27,220 FRINT MePaFER O

SO0 NEXT K

O THEN  MespeJ s FER O FAFER S 100
FRINT MaPaRER O

NEEY % 3 D=0
IF RE$="" AND 05 50

THER GOTO SEO
THER GOTE EE0D

L L7 e PFRINT" Yo oddd it Y v w

aoreal dirink afber that "

L DR T MG
T Y BTER
MOVE X, vy e DRAWR W, 0
PEXT YY
FE T LI




SPIRAL MAZES

Because you forgot to doff your cap to the local tyrant, you have
been thrown into his dungeons.

On the floor, scratched by a previous resident, is a map so now is
your chance to escape. Rather than rush headlong into the maze,
however, it would be wise to trace your way through in advance.
Try drawing a continuous line from where you are to the outside of
the dungeons.

By the way, if you make it to the outside, don’t forget about doffing
the cap next time.



137

How to play

A maze will be drawn on the screen. At first glance it may appear
to be a simple spiral but it may be an optical illusion.

Your position, at the centre, is marked by a red line and you move
by pressing the ARROW keys.

Like Dorothy, in the Wizard of Oz, your path will be shown as a yel-
low line.

When you have decided whether or not your escape is possible
press Y for Yes and N for No.

Programming hints

If you wish to change the direction in which the spiral is wouind,
then you may change the initial values of XS and YS in line 120.

If you wish to make the end wall, which blocks off the outside of the
maze, run at right angles, then you should change line 320 from
DRAWR, XC, YC to two alternative lines.

320 DRAWR O, YC: DRAWR XC, O
and 325 DRAWR XC, O: DRAWRDO, YC

You will have to remember to separate the conditions in lines 280
to 310 to determine in which order the PLOT statements occur.

The Program

1o REM SFTRAL MAZE
20 REM COPYRIGHT (C) 19835 G, LUDIMSET
F0 MODE 1

4o ULS

&0 PR (2 TNT (RMD CLY %80 ) -8

T Ll 0o Wl On X=2000 V=154
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80 REM

0 REM DRAW MAZE

100 REM

110 F"DR J=10 TO 2

120 =1 Y B

) F' [:.H LaMOVE X3, Y-S5 DRAWR 10, O FEN 3
l 4!) IF Je=1 THEM MOVE X, Yi&F=-13XT=XsYT=Y
O IF J=00 THENM MOVE X, YiDRAWR W, O DRAW
D, W GF=]

LoD FOR IT=1 TO P&

P70 TF WH=1 AND J=2 AND I>={(FPA&~2) THEN I
azf GOTO

S0 IF I/72=TNT{I/72)Y THERN ‘\"P ----- \ ’3" Ot C2% TNT
O T 5 ".'.:'-' PENY 2 DRAWR O, VP Y Eme-YE
190 TF T/2=IMTOL/72)  alD J= 1 "I"P--IE:':II"-.! YTy Ty

POIF O DSRSEINTOL /2 THEN XK (L (2w TNT ((

.vJP)/E))*N}FXQ DRAWR X, On XG=-XG

D210 IF I/720xTNTLL/Z72Y AND J=1 THERK XT=XT+

KF

220 NEXT I

D NMEXT J

Y REM

250 REM RBLOCE OFF END OF MAZE

2EH0 REM

D Xm0 YOm0

280 IF (WH=0 AND XTHX) O (WH=1 AND XTX)
THEN Xl

GOTF (WH=0 AND XTCX)Y OR (WH=1 AND XT>X)
THEN X(C==W

Z00 IR (WH=0 AND YT YY) (R (WH=1 AND YTV

YOTHEN Y=

10 OIF (WH=0 AND YT<Y) OR (WH=1 G&ND YT>Y

) THEN YC=W

IR0 DRAWR XC, YO

230 LOCATE l.“.FhIHT“Lan VO R @6 Y/

me

REM
F\["I"l DEaAW FATH THROUGH MATE

47
CHECE ANSRER

FRINT s



420 TF  OTUS="Y" GND WH=0)  OR (TUE=
0 Wh=1) THERN FRIMT"Yow are right"
00

AED PRINT"Youw are weong'

440 REM

45D GOTO &30

&0 REM

470 FEM ARROWN SUBROUT ITME

480 MOVE X-7,Y-5

450 FENOE

EOD REM

ENGOTO S .1. ]
IF TL
TF Tls:
TF T
TFE TU RIS

DFAWR XD, Y U

GHOTO S10

FEN 3

FETURNM
FRINT"Goodbye.. . "
Fofe TN Y o s e e e s e
END

Sy R TS FOHRS (3

139

N AN AT
S07T0 4

Tl TRMIEEY S TF TUg="" THENM GOTO 510
YO OFR TN THEN GOTO &10

4350 TH
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PHOENIX
CRIB CARD

FOR THE

AMSTRAD

ISBN 09465 7635 1

‘Crib Cards’ are handy, easy to refer to
programming aids. The cards, which measure 9 x
4 inches and come in individual protective
polythene sleeves, have 12 faces to view in a
concertina fold.

Contents include
Keywords, Colour, Sound, Data, Input/Output,
Error Messages,
Logical/Arithmetical Operators, Basic Commands

etc. '
They have ‘Everything at your Fingertips’.

Publishing date: February 1985

Available from good bookshops and computer shops
or direct from

Phoenix Publishing Associates Limited
14, Vernon Road, Bushey, Herts WD2 2JL.

Retail Selling Price £1.99
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ADVANCED
PROGRAMMING

ON THE

ANMSTRAD

ISBN 09465 7632 7

This title will introduce new owners to machine code

programming, graphics, sound and colour on their

Amstrad. Example programs will be given throughout

the book in addition to a wide collection of time-saving

routines plus a special section on important ROM
routines.

The Author

Keith Hook is an experienced user of the Z80 chip (as
used in the Amstrad) and is a regular contributor to
Personal Computer News.

Publishing date: March 1985

Available from all good Bookshops
or direct from

Phoenix Publishing Associates Limited
14 Vernon Road, Bushey, Herts WD2 2JL.

at £6.95 plus 55p post and packing
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BUSINESS
PROGRAMMING

ON YOUR

AMSTRAD CPRC464

ISBN 09465 7633 5

Now that Amstrad have launched a disc and printer system the
possibilities for small business users is greatly extended with the
80 column screen available on the mono system. This title will
offer the reader the opportunity to construct their own small
business package using Sales Forecast, Graph Plotter, Sales
Adjuster, Customer Record and Database programs which are
given in the book. Full details are also given on how to adapt
the programs to suit personal needs.

The Author

Peter Jackson is a highly experienced businessman who now
has his own software company and is a visiting lecturer at the
London Business School.

Publishing date: February 1985

Available from all good bookshops
or direct from

Phoenix Publishing Associates Limited
14, Vernon Road, Bushey, Herts WD2 2JL.

at £7.95 plus 55p post and packing
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THIE
ANMSTRAD
PROGRANM BOOK

ISBN 0 9465 7624 6

A wide ranging selection of programs
to make full use of
the colour and sound
available to you.

Arcade style games
to test your reaction skills and
mental agility.

Adventures
to make you face dragons and dungeons
to save the princess

Brainteasers
to make you skip through minefields
and worse.

This is the
AMSTRAD PROGRAM BOOK

with something for everyone.

Now Available

From all good bookshops
or direct from

Phoenix Publishing Associates Limited
14, Vernon Road, Bushey, Herts WD2 2JL

at £5.95 plus 55p post and packing







BRAINTEASERS

FOR THE AMSTRAD

PROGRAMS TO PUZZLE AND AMUSE

Here at last is a collection of programs
worthy of the title ‘Brainteasers” and worthy of
the computers for which they are designed.
Built around a competition element you will be
asked questions requiring logic, general knowledge
and mathematical skills in your answers.

Only your quick powers of numeracy can save
the lady on the railway track; escape with the
takings from the bank; break open a safe.

Only your powers of deduction can solve the Whodunnit?
Work out the wiring on the robot; catch the car thief.

All of the programs will exploit the graphic capabilities
of your machine and, if you can face up to it,
many of the programs will contain an
IQ rating at the end of the program.

THE AUTHOR

Genevieve Ludinski is a widely experienced
programmer and technical author and has her own
software company specialising in
educational material.

ISBN 0-9465-7634-3

90000
0
PUBLISHING ASSOCIATES LTD.
£5.95
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